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The following table presents the data on the number of vehicles of three different types (A, B
and C) produced by a company during seven different vears from 2012 to 2018. Based on the
data in the table, answer the questions 1- 5 :

Year — wise production of three types of vehicles

Vehic
Yﬁar A -Type | B- Type | C - Type
2012 5000 20000 15000
2013 15,000 10000 22500
2014 10,000 15000 30000
2015 17,500 15000 23000
2016 25,000 20,000 15000
2017 13,000 25,000 20000
2018 30,000 35,000 25000

Sub questions

Question Number : 1 Question Id : 6154758286 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The following table presents the data on the number of vehicles of three different tvpes (A. B
and C) produced by a company during seven different vears from 2012 to 2018, Based on the
data 1n the table. answer the gquestions 1- 5 :

Year — wise production of three tvpes of vehicles

Vehicle
Year A - Tvpe B - Type C - Type
v
2012 2000 20000 15000
2013 15.000 10000 22500
2014 10.000 15000 30000
2015 17.500 15000 23000
2016 25.000 20,000 15000
2017 15.000 25.000 20000
2018 30,000 35.000 25000
Options :

B1547532201. 1
615475322302 2
61547532303, 3
61547522304, 4

Question Number : 2 Question Id : 6154758287 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The number of A — type vehicles produced in the year 2014 was what percent (%) of the
number of C-type vehicles produced in the year 20167

1) ~33.33% (2) ~66.67%
(3) 50% 4 15%
Options :

E15475322305. 1
B1547532206. 2
61547532207, 3
61547532308, 4

Question Number : 3 Question Id : 6154758288 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In how many years was the production of A — type vehicles less than its average production
over the given years?

(1) 2 (2) 4
(3) 3 @ 1
Options :

61547532309, 1
61547522310, 2
E1547532211. 3
BE15475322312. 4

Question Number : 4 Question Id : 6154758289 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What was the average number of B — type vehicles produced by the company over the years?

(1) 20000 (2) 25000
(3) 15000 (4) 30000
Options :

BE1547532213. 1
61547532214, 2
61547532315 3
61547532316, 4

Question Number : 5 Question Id : 6154758290 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which of the following years was the total production of all the three types of
vehicles 60000?

(1) 2013 (2) 2014
(3) 20158 (4) 2016
Options :

615475322171
61547532318, 2
61547522319, 3



E15475322320. 4

Question Id : 6154758285 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (1 to 5)
Cesticn Label | Comprehiension
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2012 5000 20000 15000
2013 15,000 10000 29500
2014 10,000 15000 30000
2015 17.500 15000 23000
2016 95000 | 20,000 15000
2017 13.000 | 25.000 20000
2018 30,000 | 35,000 25000

Sub questions

Question Number : 1 Question Id : 6154758286 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1) 10% 2) 5%
3) 20% 4) 25%
Options :

61547532201, 1
61547532302, 2
61547532302, 3
E1547532204. 4

Question Number : 2 Question Id : 6154758287 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1) ~33.33% (2) ~66.67%
(3)  50% 4) 15%

Options :



E15475322305. 1
61547532206, 2
61547532207, 3
61547532308, 4

Question Number : 3 Question Id : 6154758288 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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() 2 2) 4
3) 3 4 1
Options :

B1547532209. 1
61547532210, 2
61547532311, 3
61547532312 4

Question Number : 4 Question Id : 6154758289 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) 20000 (2) 25000
(3) 15000 (4) 30000
Options :

615475223121
61547522314, 2
E1547532215. 3
E1547532216. 4

Question Number : 5 Question Id : 6154758290 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frfega § & foF9 99 91 TR & a18q] 1 @ 3ca7e9 60000 o917

(1) 2013 (2) 2014
(3) 2015 (4) 2016
Options :

61547532317, 1
61547522318, 2
E1547532218. 3
B15475322320. 4



Sub-Section Number: 2
Sub-Section Id: 615475365
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 6154758291 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

By selling 70 pencils for Rs.90/- a person makes a loss of 25%. How many pencils should be

sold for Rs.234 to have a profit of 30%?

(1) 95 (2) 100

(3) 105 4 110
Options :
B1547532321.
E1547532322.
B1547532325
61547532324

o LI

Question Number : 6 Question Id : 6154758291 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TF FEFd 70 GrEe w1 90 T § 59 L 25% B 3217 2 | 30% HATH FAM F o0 234 T § TR
~ F < s : fo

(1 95 (2) 100
(3) 105 (4) 110
Options :

E15475325321. 1
B1547532322. 2
B1547532323. 3
615475325324, 4

Question Number : 7 Question Id : 6154758292 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In what ratio must a vendor mix two varieties of sugar worth Rs.60 per kg and Rs.78 per kg
so that by selling the mixture at Rs.76.8 per kg, the vendor gains 20%?

Options :

E1547532325. 1
E1547532326. 2
B1547532327. 3
B15475322328. 4

Question Number : 7 Question Id : 6154758292 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
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(1) T 54 2y T:
(3) 34 @ 1) D2
Options :

B15475325325. 1
B1547532326. 2
G1547532327. 3
61547532328, 4

Question Number : 8 Question Id : 6154758293 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which given of the following sets of letters when sequentially placed at the zaps in the letter
series below shall complete 1t?

bb b ab chba bebb

(1) achac (2) acbbb
(3) cbhbhba (4) abbbe
Options :

BE1547532229. 1
615475322330, 2
61547532321, 3
61547532332, 4

Question Number : 8 Question Id : 6154758293 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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bb b ab cbba  bebb

(1) achac (2) achbbb
(3) chbba (4) abbbe
Options :

615475323291
61547532330, 2
E15475325321. 3
E15475325332. 4

Question Number : 9 Question Id : 6154758294 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Qut of a total of 10 students, the average weight of 9 students is 60 kg. If the weight of the
10t student is 9 kg more than the average weight of all the 10 students, then the weight of
the 10t student would be :

(1) 61 kg. (2) 69kg.
(3) 70k 4 71ke.
Options :

61547532352, 1
E15475325324. 2
E15475322335. 3
615475322336, 4

Question Number : 9 Question Id : 6154758294 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
et 10 fammieai 8 @ 9 faenten =1 sitas === 60 .o 2 | 3tz 10 9 faenefi = o= gt 10 faentr= =
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(1) 61 f%.mm. (2) 69 TFHm.
(3) 70 T .. (4) T1TFIm.
Options :

BE15475322333. 1
615475322334, 2
61547532335 3
61547532356, 4

Question Number : 10 Question Id : 6154758295 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following was not a Millennium Development Goal (MDG)?

(1) Eradicate extreme poverty and hunger
(2) Improve maternal health
(3) Ensure healthy lives and promote well being for all at all ages
(4) Ensure environmental sustainability
Options :

61547532357, 1
E15475322338. 2
B1547532339. 3
61547532240, 4

Question Number : 10 Question Id : 6154758295 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

£1547532537. 1
E1547532338. 2
E1547532339. 3
£1547532340. 4

Question Number : 11 Question Id : 6154758296 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Choose the person who has control over self, mode of communication and method of delivery
in class room from the following :

(1) Student (2) Teacher
(3) Audience (4) Visitor
Options :

BE15475322341. 1
B15475322342 2
61547532343, 3
61547532344, 4

Question Number : 11 Question Id : 6154758296 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

FeTiertiad § ® UH =4fFa il G (9 A | w=E, 5U farg s siasate IeE wE k9l W
e = 2

() =A (2) T
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Options :

E15475322341. 1
B15475322342 2
615475322343, 3
61547532344, 4

Question Number : 12 Question Id : 6154758297 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Select the period in which India became a centre of higher learning.

(1) Gupta Period (2) Buddha Period
(3) Mughal Period (4) British Period
Options :

615475323451
E1547532346. 2
E15475322347. 3
61547532248, 4

Question Number : 12 Question Id : 6154758297 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) T =hlet (2) g
(3) I wA (4) ToT =1
Options :

E1547532345. 1
61547532346, 2
E1547532347. 3
B1547532248. 4

Question Number : 13 Question Id : 6154758298 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following groups has the components of paralanguage communication?

(1) Voice, Emphasis and Impression
(2) Social Space, Voice and Impression
(3) Voice, Social Space and Expression

(4) Emphasis, Social Space and Voice

Options :

61547532349, 1
61547532350 2
61547522251, 5
61547532352 4

Question Number : 13 Question Id : 6154758298 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547532349, 1
61547532350 2
61547532351 2
61547532352 4

Question Number : 14 Question Id : 6154758299 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

How many National Parks and Wildlife Sancturies were there in India till March 20117

(1) 8 and 421 only (2) 10 and 75 only
(3) 75 and 421 only (4) 102 and 515 only
Options :

E15475325353. 1
B1547532354. 2
61547532355, 3
61547532356, 4

Question Number : 14 Question Id : 6154758299 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

WHE § 99 2011 % FRad U S9F 3R 99 99 A9IN0T 97

(1) =Fasd 8 3N 421 (2) Had 10 317 75
(3) I 75 W 421 (4) FHEE 102 R 515
Options :

E1547532352. 1
E15475325354. 2
E1547532355. 3
B1547532356. 4



Question Number : 15 Question Id : 6154758300 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following 1z =zignified by Udsharana of Anumiana (Inference) in

Indian Logic?

(1) Statement of reason

(2) Proposition to be proved

(3} Conclusion proved

(4) Urniversal proposition along with an instance
Options :

E1547532357. 1
61547532358, 2
E1547532359. 3
B1547532260. 4

Question Number : 15 Question Id : 6154758300 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
51547552357, 1
E1547532358. 2
E1547Y532359 3
61547532360 4

Question Number : 16 Question Id : 6154758301 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Devdatta 1z fat and he does not eat during the day. Therefore. Devadatta 1s eating during

the mght.

The above example. 1n clazsical Indian School of Logic. 1= a case of

(1) Comparison (2) Implication
(3) Perception {4y Verbal Testimony
Options :

E1547532561. 1
E1547532362. 2
BE1547532363. 3
61547532364, 4

Question Number : 16 Question Id : 6154758301 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1)  gem 2) Tafgard

(3) HIFTOM (4) I J19
Options :
E1547532361. 1
E1547532362. 2
E1547532363. 3
£1547532364. 4

Question Number : 17 Question Id : 6154758302 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

As per the classical square of opposition, if ‘A’ proposition is given as true, then which one
of the following is correct?

(1) “E” proposition 1s false, “I” proposition is true and “O” proposition is false

(2) “E” proposition 1s true, “I” proposition is true and “O” proposition is true

(3) “E” proposition 1g false, “I” proposition is false and “O” proposition is true

(4) “E” proposition is true, “I” proposition is false and “O” proposition is false
Options :

BE15475325365. 1
61547532366, 2
E1547532367. 3



E1547532368. 4

Question Number : 17 Question Id : 6154758302 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547532365, 1

61547532366, 2

61547532367, 3

61547532368, 4

Question Number : 18 Question Id : 6154758303 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following propositions is a contrary to “All poets are dreamers”?

(1) Some poets are dreamers (2) Some poets are not dreamers
(3) No poets are dreamers (4) No dreamers are poets
Options :

5154753236459, 1
61547532370, 2
61547532371, 3
BE1547532372. 4

Question Number : 18 Question Id : 6154758303 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547532369, 1
61547532370, 2
E15475325371. 3
B1547532372. 4

Question Number : 19 Question Id : 6154758304 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following is NOT a component of effective teaching?
(1) Questioning to check for the understanding of students

(2) Providing students with feedback

(3) Being flexible about how long it takes to learn

(4) Reactive mode of student’s behaviour
Options :
61547532373, 1
61547532374, 2
61547532375, 3
61547532376, 4

Question Number : 19 Question Id : 6154758304 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

615475323731
61547532374 2
61547532375 3
61547532276, 4

Question Number : 20 Question Id : 6154758305 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following factors doesn’t contribute to assessment bias?

(1) When language of the test and the tester is different from the languages of the

students

(2) Answers that support middle — class values

(3) If assessment procedures are flexible and diverse to make disadvantaged students
comfortable

(4) Objective test for assessing abstract reasoning of the student.

Options :
61547532377, 1
615475325 7a. 2



B1547532379. 3
615475322380, 4

Question Number : 20 Question Id : 6154758305 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547532377, 1
61547532378 2
615475323793 2
61547532380, 4

Question Number : 21 Question Id : 6154758306 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following is NOT related to qualitative research?

(1) Thematic analysis (2) Case study
(3) Discourse analysis (4) Survey method
Options :

61547522381, 1
61547532382, 2
E1547532383. 3
E1547532284. 4

Question Number : 21 Question Id : 6154758306 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547532381, 1
61547532382 2
61547532383 2



E1547532384. 4

Question Number : 22 Question Id : 6154758307 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In Social Sciences, a central issue is the question of whether the social world can be studied
using the methods of natural sciences. This statement refers to the i1ssue of :

(1) Ontology (2) Axiology
(3) Epistemology (4) Etymology
Options :

61547522385, 1
61547532386, 2
E1547532387. 3
E1547532288. 4

Question Number : 22 Question Id : 6154758307 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

LY

SIS foRE § e qgal 98 WA 7 o6 7 urhfaw fosme o et o sam a smied g #
AT ToF1 51 ThaT & | 98 hyE TRE a9 f 3 Hehq oA 27
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Options :

51547532385, 1
61547532386, 2
E1547532387. 3
61547532388, 4

Question Number : 23 Question Id : 6154758308 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following i1s not the outcome of grounded theory research?

(1) Concepts (2) Narrative
(3) Categories (4) Hypotheses
Options :

615475223859, 1
E1547532380. 2
E15475322391. 3
B1547532352. 4

Question Number : 23 Question Id : 6154758308 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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51547532389, 1
61547532330, 2
615475223391, 3
E15475325392. 4

Question Number : 24 Question Id : 6154758309 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Identify the factors that do not contribute to the effectiveness of teaching from the options
given below :
(a) Socio — economic background of Teacher
(b) Teacher’s skill in pleasing the students
(c) Teacher’s subject knowledge

(d) Teacher’s personal contact with students

Choose the correct option :

(1) (a), (c) and (d)
2) (b, (¢) and (d)
(3) (a), (b) and (c)
(4) (a), (b) and (d)

Options :

61547532293, 1
61547532394 2
615475323495 3
61547532296, 4

Question Number : 24 Question Id : 6154758309 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) (a), (¢) ¥R (d) 2) (b, (c) 3T (d)
3)  (a), (b) W (c) 4) (a), (b) T (d)

Options :

B1547532393 1
615475232294, 2
61547532295,
61547532396 4

Question Number : 25 Question Id : 6154758310 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Select the alternative features from the following, which make open universities as

non-traditional universities :

(a) Innovative method of teaching and learning
(b) Innovative method of admission, curriculum and evaluation
(c) Modern communication techniques

(d) Teacher’s friendly approaches

Select the correct option :

(1) (b), (c) and (d) only
(2)  (a), (b) and (c) only
(3)  (a), (¢) and (d) only
4)  (a), (b) and (d) only

Options :
615475322397, 1



B1547532398. 2
61547532395, 3
61547532400, 4

Question Number : 25 Question Id : 6154758310 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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[

TEl fasheT gHu

(1) =@ (b), (o) X (d) (2) A (a), (b) 3R (c)
(3)  =ad (a), (c) FW (d) (4) =HFA (a), (b) FW (d)
Options :

BE15475323597. 1
B1547532398. 2
B1547532399. 3
61547532400, 4

Question Number : 26 Question Id : 6154758311 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Regarding E-governance. which of the following statements 1s / are correct?

(a) Decreasing transparency 1s an ICT enabled advantage of E-Governance.

(b) E-governance 1s related to the implementation of ICT in the government processes and
functions.

(c) Common Service Centres (CSCs) help 1n providing and using E-Governance related
services.

Choose the correct option :

(1) {a). (b). and (¢)
(2)  (b)and (c) only
(3)  {a)and (c) only

(4) (a) and (b) only
Options :
51547552401, 1
E1547532402. 2
61547532403 3
61547532404 4

Question Number : 26 Question Id : 6154758311 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1)  (a), (b) 3 (c) (2) Faa (b) 3K (c)
(3) T (a) I (c) (4) FF9 (a) FR (b)
Options :

615475232401, 1
61547532402 2



E1547532403. 3
61547532404, 4

Question Number : 27 Question Id : 6154758312 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following statements 1s / are correct?
{a) Software 1z loaded into secondarv storage from RAM and 1z then executed by
the CPU.

(b) A search engine 13 a software system that 15 designed to search for information on

the www.

Choose the correct option :

(1) (a) only
(2) (b) only
(3) Both (a) and (b)

(4) Neither (a) nor (b)
Options :
61547532405 1
61547532406 2
61547532407 2
61547532408, 4

Question Number : 27 Question Id : 6154758312 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547532405, 1
61547532406 2
61547532407 2
61547532408, 4

Question Number : 28 Question Id : 6154758313 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below is a question followed by three statements. Identify the statements that are

necessary to answer the question.

Question : What is the percentage profit gained by a vendor when he gells an article?

Statements :
(a) He gives a 10% discount on the marked price.
(b) He would have earned 25% profit if he did not give any discount.

(c) The cost price of the article 1z Rs.8000.

Choose the correct option from those given below :

(1) (a) and (b) only
(2) (b) and (c) only
(3) (a) and (C) [)n]}r

(4) (a), (b) and (c)
Options :
E1547532408. 1
£154r532410. 2
£1547Y532411. 3
£1547532412 4

Question Number : 28 Question Id : 6154758313 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(3) A (a) W (c) 4) (a), (b) F (c)
Options :

615475324091
61547532410, 2
61547522411, =
E1547532412. 4

Question Number : 29 Question Id : 6154758314 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following statements are true about a fuel cell?

(a) It is a device that uses electrochemical reactions to produce electric current
(b) It consists of a positive electrode and a negative electrode separated by an electrolyte
(c) Just like batteries it needs to be recharged with an electric current

Choose the correct option from those given below :

(1) (a) and (b) only
(2) (b) and (c) only
(3) (a) and (c) only

4 (a), (b) and (o)

Options :
15475324121
E1547532414. 2



E1547532415. 3
B1547532416. 4

Question Number : 29 Question Id : 6154758314 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4) (2. (b) TR ()
Options :
615475324135 1
61547532414 2
61547532415 5
E15475224168. 4

Question Number : 30 Question Id : 6154758315 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Consider the following statements with reference to the proposition "Some zirls are not
students”

(a) Subject term students 1s distributed

(b) Predicate term girls 1s undistributed

(c) Predicate term students 1z diztributed

(d) Subject term girls 1s undistributed

Choose the correct option from those given below:

(1) Only (a) and (c) are correct
(2) Only (b) and (c) are correct
(3) Only (a) and (d) are correct

(4) Only (c) and (d) are correct
Options :
615475324171
1547532418 2
£1547532419 2
61547532420 4

Question Number : 30 Question Id : 6154758315 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547532417, 1
61547532418 2
61547532419 2
615475352420 4

Question Number : 31 Question Id : 6154758316 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Choose two factors that do NOT affect the academic performance of students adversely :

(a) Low zelf — efficacy belief
(h) Belief 1n God
(c) Indifferent attitude towards politics

(d) Teacher's low expectation from students

Choose the correct option :

(1) (a) and (b) only
(2) (b) and (c) only
(3} (c) and (d) only

{4) (b) and (d) only

Options :

61547532421, 1
61547532422 2
615475352423 3
61547532424 4

Question Number : 31 Question Id : 6154758316 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547532421, 1
61547532422 2
61547532422 5
61547532424 4

Question Number : 32 Question Id : 6154758317 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the two statements from the following statements are correct?

{a)

(b)

(d)

Sampling — related error 13 subsumed under the category non-sampling error
Sampling error doesn't occur in multi-stage cluster samphng

Inaccurate samphng frame and non-response are examples of sampling — related

eITor,

There 1s an inverse relation between heterogeneity of population and sampling errvor.

Choose the correct option :

(4)

Options :

(a) and (¢) only
(a) and (d) only
(b) and (d) only

(b) and (c) only

515475324251
E1547532426. 2
E1547532427. 3
E15475324258. 4

Question Number : 32 Question Id : 6154758317 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547532425, 1
61547532426 2
61547532427 2
61547532428, 4

Question Number : 33 Question Id : 6154758318 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match the following historic places with their distinguishing discipline of learning

Last I List II
Hiztoric places Discipline
(a) Takshila (1)  Astronomy
(b) Ujjain (1) Buddhism
(c) Sarnath (m) Art. Architecture and Painting
(d) Ajanta (1v) Medicine

Choose the correct option from those given below :

(1) (a)-(1). (b)-(11). (c)-(111). (d)-(1v)
(2) (a)-(11). (b)-(1). (c)-(1v). (d)-(11)
(3) (a)-(111). (b)-(1v). (e)-(1). (d)-(1)
(4) (a)-(1v). (b)-(1). (c)-(11). (d)-f111)

Options :

51547532429 1

51547532450, 2

61547532421, 3
61547532432, 4

Question Number : 33 Question Id : 6154758318 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

(a)-(@), (b)-(1), (e)-(id), (d)-(iv)
(a)-(11), (b)-(), (0)-Gv), (d)-(ii)
()-(iid), (b)-(iv), (0)-(i), (d)-(D)
(2)-(iv), (b)-(), (e)-(1), (d)-(iiD)

615475324291
61547522430, 2
E1547532421. 3
E1547532432. 4
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Question Number : 34 Question Id : 6154758319 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match the following soil orders with their descriptions

(a)

(b)

(c)

(d)

Histosols

Andisols

Gelisols

Aridsols

@

(11)

(111)

(1)

Choose the correct option from those given below :

(1)
(2)
(3)
(4)

Options :

(a)-(v), (b)-Q), (c)-(11), (d)-(i11)
(a)-(11), (b)-(iv), (¢)-(1), (d)-(i11)
(2)-(D), (b)-(1D), (c)-(11), (d)-(iv)
(2)-(1), (b)-(11), (c)-(av), (d)-(i11)

E1547532433. 1
B1547532434. 2
51547532435 3
61547532436, 4

Soil order that includes soils formed on
volcanic ash

Soil order of cold regions including
soils underlain by permafrost

Soil order consisting of soils of dry
climates

So1l order consisting of goils with a
thick upper layer of organic matter.

Question Number : 34 Question Id : 6154758319 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) (a)-(v), (b)-(1), (e)-(11), (d)-(111)

(2) (a)-(i1), (b)-(iv), (¢)-(1), (d)-(ii1)

(3) (a)-(1), (b)-(i1), (c)-(ii1), (d)-(iv)

) (2)-(1), (b)~(i1), (¢)-(iv), (d)-(1i1)
Options :

BE1547532423. 1
61547532424, 2
61547532435 3
61547532436, 4

Question Number : 35 Question Id : 6154758320 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List — I with List - IT

List I List I1
(Digital Initative) (Purpose)
(a) UMANG 1) G2B Services
(b BHIM (1) Learning platform
(¢) eBiz (111) Unified payment interface
(d) SWAYAM (iv) Single point of access to all

governme nt services.

Choose the correct option :

(1) (a)-(11), (b)-(1), (c)-(111), (d)-(av)
(2) (a)-(i11), (b)-(11), (¢)-(iv), (d)-@)
(3) (a)-(v), (b)-(i11), (¢)-(1), (d)-(11)
(4) (a)-(1), (b)-(v), (¢)-(1), (d)-(111)



Options :

61547532437, 1
61547532438 2
61547532429 2
615475232440, 4

Question Number : 35 Question Id : 6154758320 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(2) (a)-(111), (b)-(11), (c)-(1v), (d)-(1)
(3) (a)-(iv), (b)-(11), (¢)-(1), (d)-(i1)
(4) (a)-(1), (b)-(iv), (e)-(11), (d)-(111)

Options :

61547532437, 1

61547532438 2

61547532439, 3
61547522440, 4

Question Number : 36 Question Id : 6154758321 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match correctly the items of Column I with the items of column II

Column I Column IT
(a) Ontology (1) Ideographic
(b) Epistemology (i) Realism
(¢) Methodolgy (111) Survey
(d) Method (1v) Positivism

Choose the correct option :

1) (@-(i), (b)-(iv), (O-(id), (d)-()
2 (a)-G), b)), (©)-(ii), (d)-(v)
(3 (@-(iv), (b)-(i), (9-(), (d)-(iii)
@ (@-), (b)-1v), (-0, (d)-(ii)

Options :
15475324411

E1547532442. 2
E1547532443. 3
B1547532444. 4

Question Number : 36 Question Id : 6154758321 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(a)  TATHTEET (1)  SAETSERS
(b)  SHETET (1) SRAIHAEg
(c) T Tafer (iii) T
(d) T (iv) GERICHFAERg

& famed g

(1) (a)-(i1), (b)-(iv), (¢)-(ii1), (d)-(1)
(2) (a)-(i1), (b ) (1), (¢)-(11), (d)-(v)
3)  (a)-(av), (b)-(1), (¢)-(1), (d)-(ii1)
@) (@), (b)-(v), (0)-(), (d)-(iii)
Options :

E1547532441. 1
B1547532442 2



E1547532443. 3
B1547532444. 4

Question Number : 37 Question Id : 6154758322 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Select the advantage of feedback 1n the process of communication. from the following :

(1) It 15 beneficial in understanding of the subject matter
(2) It diagnoses the defects in receiver
(3) It clarifies the communication
(4) It explores the defects in receiver
Options :

61547522445 1
61547522448, 2
E1547532447. 3
E1547532448. 4

Question Number : 37 Question Id : 6154758322 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547532445 1
61547532446, 2
61547522447, 3
E1547532448. 4

Question Number : 38 Question Id : 6154758323 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match the following values with their distinguishing functions :

List I List IT
(a) Sacrifice (1) Working in a stipulated time
(b)  Sincerity (11) Confinement of individual mind on
action
(¢) Self control (111) Showing love and affection
(d) Altruism (iv) Helping without selfish motives

Choose the correct option from those given below :

(1) (a)-(11), (b)-(1), (c)-(v), (d)-(111)
(2) (a)-(iv), (b)-(1), (¢)-(i1), (d)-(ii1)
(3) (a)-(111), (b)-(iv), (¢)-(1), (d)-(11)
4  (a)-Q), (b)-(1), (c)-(i1), (d)-(Av)

Options :

61547532449, 1

61547532450 2

51547532451, 3
61547532452, 4

Question Number : 38 Question Id : 6154758323 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) (a)-@), (b)-(), (c)-(v), (d)-({1)
(2) (a)-(iv), (b)-(i), (e)-(i1), (d)-(ii1)
(3) (a)-(ii1), (b)-(iv), (¢)-(1), (d)-(i1)
@) (@)-Q), (b)-Gid), (0)-(id), (d)-(iv)

Options :

61547532449, 1
61547532450 2
61547532451 =2
61547532452 4

Question Number : 39 Question Id : 6154758324 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Select the option that lists components for a cyberspace address (URL) in the correct order
from beginning to end?
(1) Protocol, domain name of the host, path / file
(2) Path / file, protocol, domain name of the host
(3) Protocol, path /file, domain name of the host
(4) Domain name of the host, protocol, path / file
Options :
15475324521
£1547532454 2
61547532455 2
61547532456 4

Question Number : 39 Question Id : 6154758324 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

154752324551

15475232454 2

1547532455 2

1547532456 4

Question Number : 40 Question Id : 6154758325 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following sequence represents the correct order of soil particles arranged in
terms of particle size from the smallest to the largest?

(1) Gravel, Silt, Clay, Sand (2) Silt, Clay, Gravel, Sand
(3) Clay, Silt, Sand, Gravel (4) Silt, Clay, Sand, Gravel
Options :

61547532457, 1
E1547532458. 2
E1547532459. 3
B1547532460. 4

Question Number : 40 Question Id : 6154758325 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) ==, e, Wedl, S
[ =

(2) T, e, =, =eg

=,

@ e, e, sl

[ "

(4) e, Wedl, =reg, s,

Options :

61547532457,
61547532458,
£15475352459,
61547532460,

[ N

Question Number : 41 Question Id : 6154758326 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the steps of research in the sequence in which they are presented in the thesis

(1) Discussion, Review of Literature, Results, Conceptual Framework, Problem

(2) Review of Literature, Problem, Conceptual Framework, Result, Discussion

(3) Problem, Review of Literature, Conceptual Framework, Results, Discussion

(4) Problem, Review of Literature, Conceptual Framework, Results, Discussion
Options :

E1547532461. 1
BE1547532462. 2
B1547532463. 3
61547532464, 4

Question Number : 41 Question Id : 6154758326 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

IMY-HIE] Tl IMI-Ta74 § TEqa Fd 799 6T 38 5 g0 a1 2 7
(1) T, dfged =t TEieq, IHod, STEEReT g, TEE

(2)  TECT <hi THIET, FEET, SAFEUNON 1, TR, aiEwEt

(3)  WHEHI, Aiiecd <hi FHIeT, SFUWON @M, i

(4)  IEEH, HifEcT =hi GHer, U g, IHEE

Options :

61547532461, 1
61547532462 2
61547532462 5
61547532464 4

Question Number : 42 Question Id : 6154758327 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements - one is labeled as Assertion (A) and the other is labeled as

Reason (R):

Assertion (A) :  Through on-line teaching a large number of students can be taught by very
competent faculty.

Reason (R) : On-line teaching helps students in developing critical thinking more than

the Off —line teaching can do.

In the light of the above two statements choose the correct option :

(1)
(2)
(3)
4)

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true and (R) is not the correct explanation of (A)
(A) 1s true, but (R) 1s false

(A) 1s false, but (R) 1s true

61547532465, 1
61547532466, 2
61547532467, 3
E15475324E8. 4

Question Number : 42 Question Id : 6154758327 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

£1547532465. 1

61547532466, 2

E1547532467. 3
E15475324E8. 4

Question Number : 43 Question Id : 6154758328 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements - one is labeled as Assertion (A) and the other 1s labeled as

Reason (R):

Assertion (A): A blog is a form of social media.

Reason (R) : A blog allows anyone to communicate to a public audience.
In the light of the above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
$24) Both (A) and (R) are ture and (R) 1s not the correct explanation of (A)
(3) (A) 1s true, but (R) is false

4) (A) 18 falze, but (R) 1s true



Options :

61547532469, 1
61547532470 2
61547532471 2
61547532472 4

Question Number : 43 Question Id : 6154758328 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

E15475324659. 1
E1547532470. 2
£1547Y532471. 3
E£1547532472 4

Question Number : 44 Question Id : 6154758329 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements - one is labeled as Assertion (A) and the other is labeled as

Reason (R):

Assertion (A) :  Skill development is a key feature in every individual’s life.
Reason (R) : An individual who wants to get employved, needs to possess good education
only.

In the context of above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

4 (A) 1s false, but (R) is true
Options :
615475324731
E1547532474. 2
61547532475 2
61547532476 4

Question Number : 44 Question Id : 6154758329 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
E154753247=2. 1

E1547532474. 2



E1547532475. 3
B1547532476. 4

Question Number : 45 Question Id : 6154758330 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two statements - one is labeled as Assertion (A) and the other is labeled as

Reason (R):

Assertion (A) :  Government of India established higher educational statutory bodies to

ensure quality of education.

Reason (R) : There are some educational institutions in India which do not provide

quality education.

In the context of above two statements, choose the correct option :

(1)
(2)
(3)
(4)

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true but (R) is not the correct explanation of (A)
(A) is true, but (R) is false

(A) 1s false, but (R) 1s true

61547532477, 1
61547532478, 2
E1547532479. 3
E1547532480. 4

Question Number : 45 Question Id : 6154758330 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4  (A)TEE & T, (R) TR
Options :
61547532477, 1
61547532478 2
1547532479 2
61547532450 4

Sub-Section Number: 3
Sub-Section Id: 615475366
Question Shuffling Allowed : Yes

Question Id : 6154758331 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (46 to 50)
Cestion Lakel Comprehension



Read the following passage and answer questions which follow.

Eventhough globalisation 1s one of the most discussed topics in the contemporary world. it 1s
not altogether a well defined concept. A multitude of global interactions are put under the
broad heading of globalisation. varving from the expansion of cultural and =cientific
influences across borders to the enlargement of economic and business relations throughout
the world. A wholesale rejection of globalisation would not only go against global business, 1t
would also cut out movements of 1deas. understandine. and knowledge that can help all the
people of the world. including the most disadvantaged members of the world population. A
comprehensive rejection of globalisation can thus be powerfully counterproductive. There 15 a
strong need to separate out the different guestions that appear merged together in the
rhetoric of the antizlobalisation protests. The globahsation of knowledze deserves a
particularly high profile recognition. despite all the good things that can be mghtly said
about the importance of "Local knowledge”.

Globalisation 1s often seen. both in journalistic discussions and 1n remarkably many
academic writings. as a process of westernization. Indeed. zome who take an upbeat view of
the phenomenon even sees 1t as a contribution of Western civilization to the world.

Sub questions

Question Number : 46 Question Id : 6154758332 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

According to the passage, which one of the following is not a well defined concept?
(1) Multiculturalism

(2) Identity

(3) Globalisation

(4) Local Knowledge

Options :
154753245811

E1547532482. 2
E1547532483. 3
61547532484, 4

Question Number : 47 Question Id : 6154758333 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

According to the passage, which one of the following is counter productive?
(1) Comprehensive support to globalisation

(2) Wholesale rejection of globalisation

(3) Comprehensive rejection of anti — globalisation protests

(4) Recognition of local knowledge systems

Options :



E1547532485. 1
B1547532486. 2
B1547532487. 3
61547532488, 4

Question Number : 48 Question Id : 6154758334 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
According to the passage, globalisation 1s perceived often by media and academia as :

(1) Supporting local knowledge systems
(2) Detrimental to local knowledge systems
(3) A process of Westernisation

(4) A process of facilitating global bussiness
Options :
E1547532489 1
61547532490 2
61547532491 =
61547532432 4

Question Number : 49 Question Id : 6154758335 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The attempt of the author in the passage is :

(1) Unconditioned advocacy of globalisation

(2) Unconditioned rejection of globalisation

(3) Unconditioned rejection of local knowledge systems
(4) Unbiased evaluation of globalisation

Options :

615475324593 1
615475324394, 2
61547532435 3
E15475324396. 4

Question Number : 50 Question Id : 6154758336 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



As per the passage, a wholesale rejection of globalisation would result in affecting

(a) Global businesses
(b) Movement of Ideas

(c) Local knowledge systems

Choose the correct answer from the options given below :

(1)  (a) and (b) only
(2)  (a) and (c) only
(3)  (c) and (b) only
(4) (a), (b) and (c)

Options :

E1547532497. 1
E1547532498. 2
£1547532499. 3
£1547532500. 4

Question Id : 6154758331 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (46 to 50)
Juestion Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 6154758332 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TR o STAR HHGRad § | %iH qIOHTNa STEEIRo T8 & ¢

(1)  wg-H&FHiqarg (2) TEEH
(3)  IATEEE (4) TIEE IE

Options :

61547532481, 1
61547532452 2
61547532482, 5
61547532454, 4

Question Number : 47 Question Id : 6154758333 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TEE  HTEN g | W R AR w

(1)  dvErE i ==E gee (2) FvdiF Fi =E A
(3)  dvdrmm-faudt gee 1 wew e (4)  wHE 9 TgieE i ae
Options :

£1547532485. 1

61547532486, 2

BE1547532487. 3
51547532488, 4

Question Number : 48 Question Id : 6154758334 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1)  FYEE 9 TgM =1 F9949 (2) TIEE W TS F T weErE
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Options :

E1547532489. 1
615475324380, 2
615475324391, 3
E1547532439%2. 4

Question Number : 49 Question Id : 6154758335 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547532493, 1
61547532494 2
615475324595 2
61547532496, 4

Question Number : 50 Question Id : 6154758336 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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@) (2, (b) I (c)
Options :
615475324597 1
61547532495 2
E15475224899 3
E1547Y532500 4

PART II Tourism Adrministration and Managemernt

Section Id : 615475112

Section Number : 2

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 92

Number of Questions to be attempted: 92

Section Marks: 200

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1

Sub-Section Id: 615475367



Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 6154758337 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In 1972, UNESCO, through the convention concerning the protection of the World Cultural

and Natural Heritage. initiated to promote cooperation among all nations and people to

contribute for the protection of the universal treasures for future generations.

In which year, India ratified the above convention?

(1) 1974 (2)y 1977
(3) 1979 (4) 1989
Options :

E1547532501. 1
B1547532502. 2
61547532503, 3
61547532504, 4

Question Number : 51 Question Id : 6154758337 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) 1974 2y 1970

(3) 1979 (4) 19389
Options :

£1547532501.
E1547532502.
£1547532503.
£1547532504.

o LI M

Question Number : 52 Question Id : 6154758338 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In which of the following Kos Minars there was a provision of inbuilt drinking water
management system and outlet of water through underground channel for storing it in the

adjoining tank? It served dual purpose — a significant Kos Minar as well as a pyau :

(1) Hiran Minar, Fatehpur Sikri (2) Kos Minar, Sonepat
(3) Kos Minar, Ambala (4) Kos Minar. Badarpur
Options :

£1547532505. 1
E1547532508. 2
E1547532507. 3
B1547532508. 4

Question Number : 52 Question Id : 6154758338 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

E1547532505. 1
61547532506, 2
61547532507, 3
61547532508, 4

Question Number : 53 Question Id : 6154758339 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

India and UNESCO agreed to establish the world's first Centre for the Conservation of
‘Natural Hermtage Sites’ at the Wildlife Institute of India (WII).

Where was this institution established?

(1) Srinagar (2) Bhopal
(3) Dehradun (4) Dharamshala
Options :

61547532505, 1
61547532510, 2
61547532511, 3
61547532512 4



Question Number : 53 Question Id : 6154758339 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547532505, 1
61547532510, 2
61547522511, 3
E1547532512. 4

Question Number : 54 Question Id : 6154758340 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Select the correct statement suggesting the popular best time for the tourists to visit the

following destinations :

(1) Best time to visit Kerala Backwaters 1s from June to July
(2) Best time to visit Thar desert 1s from October to January
(3) Best time to vizit Kashmir valley 1z from December to January

(4) Best time to visit Lakshadweep 1s from May to June
Options :
615475325131
61547532514 2
£1547532515 2
E1547532516. 4

Question Number : 54 Question Id : 6154758340 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
15475325131
61547532514 2

61547532515 3
E1547532516. 4

Question Number : 55 Question Id : 6154758341 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
India 1s known for its philosophy of Ahimsa (non-viclence) in the world. The heritage of
Ahimsa, beginning from Lord Buddha. Lord Mahavira was followed by Samrat Ashoka.
emperor Akbar (Sulh-1 kul) and

(1) Jawahar Lal Nehru (2) Mahatma Gandh
(3) Sardar Vallabh Bhai Patel (4) Rabindranath Tagore
Options :

B1547532517. 1
61547532518, 2
615475325149, 3
61547532520, 4

Question Number : 55 Question Id : 6154758341 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547532517, 1
E1547532518. 2
E1547532519. 3
B1547532520. 4



Question Number : 56 Question Id : 6154758342 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In Benelux countries demand for tourism and recreation 1s high, but this does place pressure

on the environment of these small and densely populated countries.

Identify the Benelux countries from the options given below :

(1) Nepal, Bhutan and Sr1 Lanka (2) Japan. North Korea and South Korea
(3) Sweden, Philipines and Vietnam (4) Belgium, Netherlands and Luxembourg
Options :

61547532521, 1
BE1547532522. 2
BE1547532523. 3
B1547532524. 4

Question Number : 56 Question Id : 6154758342 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

£1547532521. 1
61547532522 2
61547532522,
61547532524 4

Question Number : 57 Question Id : 6154758343 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

According to Leiper’s Geo-spatial Model of Tourism System, which of the following iz not a
pull factor :

(1) Tour Operator (2)  Accommodation

(3) Tourist Attraction (4) Shopping



Options :

61547532525, 1
61547532526 2
61547532527 3
61547532528, 4

Question Number : 57 Question Id : 6154758343 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) 7 3 (2) AEE (TFREETE)
(3)  THIH ANV (4) I
Options :

615475325251
E1547532526. 2
B1547532527. 3
B1547532528. 4

Question Number : 58 Question Id : 6154758344 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Consequences of past behaviour affect future cyclical learning process. This process 1s

expressed as :

(1) Stimulus — Consequences — Response — Future Response
(2) Stimulus — Response — Consequences —» Future Responsze
(3) Response — Stimulus — Consequences — Future Response

(4) Consequences — Stimulus —> Response — Future Response

Options :

61547532529, 1
61547532530 2
1547532521 2
61547532552 4

Question Number : 58 Question Id : 6154758344 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547532529, 1
61547532520 2
615475325351 2
61547532522 4

Question Number : 59 Question Id : 6154758345 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Whach of the following 13 NOT correct?

(a) For a symmetrical distrbution
Mean = Median = Mode
(b) For a moderately asvmmetrical distribution
Mode = 3 Median — 2 Mean
(c) For a positively skewed distribution
Mean = Median = Mode
(d) For a negatively skewed distribution
Mode < Median < Mean

Options :

615475325331
61547532524 2
615475322525, 5
61547532536 4

Question Number : 59 Question Id : 6154758345 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

615475325331
61547532524 2
615475322525, 5
61547532536 4

Question Number : 60 Question Id : 6154758346 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Matrix organization refers to :

(1) Organisation where authority and responsibility co-exist

(2) Organisation 1n which two or more basic types of departments are combined
(3) Mathematical arrangement of events 1in columns and rows

(4) Orgamisation divided into functions with specialists having authority

Options :

61547532537, 1
61547532538, 2
61547532539, 3
E1547532540. 4

Question Number : 60 Question Id : 6154758346 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

615475325571
61547532528 2
61547532539 2
61547532540 4



Question Number : 61 Question Id : 6154758347 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In Factor Analysis, which of the following tests the hypothesis whether the population
correlation matrix is an identity matrix or not?

(1) Bartlett’s test (2y EKMO test
(3) Factor Matrix (4) Discriminant loadings
Options :

E1547532541. 1
61547532542 2
E1547532543. 3
B1547532544. 4

Question Number : 61 Question Id : 6154758347 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) A2 THeqm (2)  =HEEAT T
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Options :

615475225411
61547532542 2
E1547532543. 3
E1547532544. 4

Question Number : 62 Question Id : 6154758348 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Under which of the following conditions Binomial Distribution cannot be used?

(1) n. the number of trials i1s finite and fixed

(2) The Trials are dependent

(3) The outcome of random experiment (trial) results in dichotomous classification of
events

(4) P. the probability of success 1s constant for each trial
Options :

15475325451

61547532546 2

1547532547 3

51547532545 4

Question Number : 62 Question Id : 6154758348 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) e =i TEa (n) =i 3R e 2
2y e atEa dn 2
(3) A (W) w1 ader gen # foursy At @ 9 2 2
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Options :
61547532545 1
61547532546, 2

61547532547, 3
61547532548, 4

Question Number : 63 Question Id : 6154758349 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In the regression equation of ¥ =a +bx; +cx,, Xs (x;, x,) are:

(1) Independent variables (Z2) Dependent variables
(3) Coefficients (4) Correlates
Options :

E1547532545. 1
61547532550, 2
61547532551, 3
61547532552, 4

Question Number : 63 Question Id : 6154758349 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

i T y=a+bx, +ex, HX: (x,, x,) & :

(1) SEda= (2) AT =
(3) Tw (4) WEEEZ
Options :

E1547532549. 1
61547532550, 2
E1547532551. 3
B1547532552. 4

Question Number : 64 Question Id : 6154758350 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



“The moderately large number of items chosen at random from a large group are almost
sure on an average to possess the characteristics of the larger group”. Which principle of
sampling 1s this logic based on?

(1) Principle of inertia of large numbers (2) Principle of Statistical Regularity
(3) Principle of validity (4) Principle of optimisation

Options :
15475325521

E1547532554. 2
E1547532555. 3
61547532556, 4

Question Number : 64 Question Id : 6154758350 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(3)  Tatamr=ar =1 foeam (4) FEAHIE F g
Options :

615475225521
61547532554, 2
E1547532555. 3
E1547532556. 4

Question Number : 65 Question Id : 6154758351 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

With an objective to provide online training and accreditation to the tour facilitators.
Mimstry of Tourism Govt. of India has launched its “Incredible India Tourist Facihitators’
online certification course through :

(1) India Guide e-learning module (2) Swayam
(3) Swavam Prabha (4) Edx and Udemy
Options :

61547532557, 1
61547532558, 2
E1547532559. 3
E1547532560. 4

Question Number : 65 Question Id : 6154758351 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547532557, 1
61547532558, 2
E1547532559. 3
E1547532560. 4

Question Number : 66 Question Id : 6154758352 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

This room status means that guest made arrangements to settle his/her account but has left
without informing the Front Office :

(1) 0CC (2) 0/C
(3) MB (4) DNCO
Options :

E1547532561. 1
BE1547532562. 2
B1547532563. 3
61547532564, 4

Question Number : 66 Question Id : 6154758352 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1)  HAr=EL (2) /=

(3)  uml. (4) ELUAH
Options :

61547532561, 1
E1547532562. 2
61547532562, 3
E1547532564. 4

Question Number : 67 Question Id : 6154758353 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Motels cater to the hospitality requirements of road travellers through facilities and services
offered by them. The guidelines for approval of operational motels by Ministrv of Tourism.
Gol have been notified in :

(1) April 2017 (2) Sept. 2017
(3) Apnil 2018 (4) Sept. 2018
Options :

E1547532565. 1
B1547532566. 2
G1547532567. 3
61547532568, 4

Question Number : 67 Question Id : 6154758353 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
OrZd, 396 gR1 991 = W giaensdl dE Taidi F wers U s A i ontaes s # 9 w2

(1) T4 2017 (2) Taa= 2017
(3) 379 2018 (4) fodsw 2018
Options :

B1547532565. 1
61547532566, 2
E1547532567. 3
61547532568, 4

Question Number : 68 Question Id : 6154758354 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The Mascot of the Lalit Group of Hotels 15 :

(1) Little Hearts (2) Elphie
(3) Namaste (4) Lion
Options :

61547522569, 1
61547532570, 2
E1547532571. 3
B1547532572. 4

Question Number : 68 Question Id : 6154758354 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

E1547532569. 1
BE1547532570. 2
BE1547532571. 3
B1547532572. 4

Question Number : 69 Question Id : 6154758355 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The first Tourism Minister of India was :

(1) Mohammad Shafi Qureshi (2) Raj Bahadur
(3) Karan Singh (4) Janaki Ballabh Patnaik
Options :

B1547532573. 1
61547532574, 2
61547532575 3
61547532576, 4

Question Number : 69 Question Id : 6154758355 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1)  HEmg w6 FAsl (2) T T
(3) U I (4) SR FEY T
Options :

615475325731
61547532574, 2
61547532575 3
61547532576, 4

Question Number : 70 Question Id : 6154758356 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

During the inaugural session of the Buddhist Conclave on 23 August 2018, in order to
promote the rich Buddhist Heritage in India, the Ministrv of Tourism launched the website :
(1) mcrediblebuddha.in (2) tourismbuddha.gov.in

(3) buddhatourism.in (4) 1ndiathelandofbuddha.in



Options :

61547532577, 1
61547532578 2
£15475325749 3
61547532580, 4

Question Number : 70 Question Id : 6154758356 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
aTd § THgd sigg A #1 AgE 2 % 90 23 9T, 2018 F diEg Fi=ed % IgEEd o F 20

T GAEE T T gEEEe i aYEd e

(1) incrediblebuddha.in (2) tourismbuddha.sov.n
(3) buddhatourism.in (4) 1ndiathelandofbuddha.in
Options :

B1547532577. 1
61547532578, 2
61547532579, 3
61547532580, 4

Question Number : 71 Question Id : 6154758357 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Ministry of Tourism. Govt. of India, keeping in mind the importance of Social Media as an

effective tool for destination branding and marketing, organized a social media key

influencers’ campaign ° in Feb. 2018, involving bloggers from across the
world, who were invited to travel to destinations in the country on the luxury trains

operating 1n different states.

Fill the above blank space from options given below :

(1) The Great Indian Blog Train (2) Social Media on Wheels
(3) Bloggers Express (4) World Bloggers Indian Express
Options :

51547532581, 1
61547532582, 2
61547532582, 3
E1547532584. 4

Question Number : 71 Question Id : 6154758357 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

E1547532581. 1
E1547532582. 2
61547532583, 3
61547532584, 4

Question Number : 72 Question Id : 6154758358 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The largest passenger ship in the world by gross tonnage 1s :

(1) Oaszis of the seas (2) Allure of the seas
(3) Harmony of the seas (4) Symphony of the seas
Options :

BE1547532585. 1
61547532586, 2
61547532587, 3
61547532588, 4

Question Number : 72 Question Id : 6154758358 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fel ZAHH & JUW W G99 T @90 931 IE1 99 ©
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Options :

E1547532585. 1
B1547532586. 2
B1547532587. 3
61547532588, 4



Question Number : 73 Question Id : 6154758359 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Japanese name of bullet train 1= :

(1) Maglev (2) Shinkansen
(3) Le Capitole (4) Metroliner
Options :

BE1547532589. 1
B15475325390. 2
615475325581, 3
61547532592 4

Question Number : 73 Question Id : 6154758359 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fe12 o7 1 AIHE A 2
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Options :

E1547532589. 1
61547532580, 2
61547532591, 3
E154753259%2. 4

Question Number : 74 Question Id : 6154758360 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In 1930, Frank Whittle in England and Hans Joachim Pabst Von Ohain in Germany

concurrently developed :

(1) The first motorbike (2) The first helicopter
(3) The first jet engine (4) The first submarine engine
Options :

5154753255931
61547532594, 2
615475325395 3
615475325396, 4

Question Number : 74 Question Id : 6154758360 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

615475325921
E15475325394. 2
E15475325395. 3
B15475325596. 4

Question Number : 75 Question Id : 6154758361 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
When the company determines the expenditure incurred. either direct or indirect. on

production and adds a desired profit margin to arrive at a price. it is :

(1) Cost-based pricing (2) Competition-based pricing
(3) Demand-based pricing (4) Discount-based pricing
Options :

615475325397, 1
E15475325958. 2
E1547532599. 3
615475326800, 4

Question Number : 75 Question Id : 6154758361 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547532557, 1
61547532598, 2
61547522599, 3
E1547532600. 4

Question Number : 76 Question Id : 6154758362 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Trademarks Act was implemented in India in the vear:

(1) 1999 (2) 1998
(3) 1997 (4) 1996
Options :

61547532601, 1
E154753260Z2. 2
E1547532603. 3
E1547532604. 4

Question Number : 76 Question Id : 6154758362 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Rd § 22a7k ATHEE R gy S 2 o

(1) 1999 (2) 1998
(3) 1997 (4) 1996
Options :

E1547532601. 1
E1547532602. 2
E1547532603. 3
515475326804, 4

Question Number : 77 Question Id : 6154758363 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In Tourism marketing system. which of the following 18 not a part of external micro

environment?

(1) Intermediaries (2) Interest groups

(3) Competitors (4) Organisation’s philosophy
Options :

51547532605, 1
615475326806, 2
61547532607, 3
61547522608, 4

Question Number : 77 Question Id : 6154758363 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547532605, 1
1547532606 2
61547532607 2
61547532608, 4

Question Number : 78 Question Id : 6154758364 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The full positioning of a brand — the full mix of benefits upon which i1t 1s positioned

1s :
(1) Need proposition (2) Want proposition
(3) Value proposition (4) Service proposition

Options :

61547532600, 1
61547532610 2
61547532611, 2
61547532612 4

Question Number : 78 Question Id : 6154758364 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

E154753260%9. 1
61547522610, 2
E1547532611. 3
E1547532612. 4

Question Number : 79 Question Id : 6154758365 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following National Waterways in India has the maximum length?

(1) National Waterway 1 (2) National Waterway 2
(3) National Waterway o (4) National Waterway 4
Options :

BE1547532613. 1
61547532614, 2
61547532615 3
61547522616 4



Question Number : 79 Question Id : 6154758365 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1)  TEE Femn 1 (2) TEE FAuT 2
(3)  TEE FET 3 (4) TEE FHE 4
Options :

615475326131
61547532614, 2
61547532615, 3
E1547532616. 4

Question Number : 80 Question Id : 6154758366 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

“Endeavour to promote safe and efficient transportation through regulation and proactive

safety oversight system” 1s the vision of :

(1) AAT (2) DGCA
(3) ICAO (4 IATA
Options :

BE1547532617. 1
61547532618, 2
E1547532619. 3
61547522620, 4

Question Number : 80 Question Id : 6154758366 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547532617, 1
615475226158, 2
E15475326149. 3
B1547532620. 4

Question Number : 81 Question Id : 6154758367 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The overall impression that the destination creates in the minds of potential tourists

including its functional and symbolic elements, 1s :

(1) Destination Positioning (2) Destination Branding
(3) Destination Controlling (4) Destination Functioning
Options :

61547522621, 1
E1547532622. 2
E1547532623. 3
B1547532624. 4

Question Number : 81 Question Id : 6154758367 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547522621, 1
E1547532622. 2
E1547532623. 3
E1547532624. 4

Question Number : 82 Question Id : 6154758368 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The International Student Travel Federation (ISTC), a not-for-profit orgamization, was

founded 1in :

(D 1919 (Z) 1945
(3) 1949 4y 1953
Options :

61547532625 1
G1547532626. 2
E1547532627. 3
E1547532628. 4

Question Number : 82 Question Id : 6154758368 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) 1519 (2) 1945
(3) 1949 (4) 1953
Options :

61547532625 1
E1547532626. 2
B1547532627. 3
B1547532628. 4

Question Number : 83 Question Id : 6154758369 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The region of Valencia in Spain 1s popularly known for the concept of :

(1) Second-homes Tourism (2) Back-Packer Tourism
(3) Payving-Guest Tourism (4) 0Old-Age Homes Tourism
Options :

615475326259, 1
61547532630, 2
61547532631, 3
E1547532632. 4

Question Number : 83 Question Id : 6154758369 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T H dedtaq1 F1 49 B TF0 & e SH A1 27

(1)  Tehs-ord Zi=H (2) AT gy
(3) - 2 (4) HAT=s-UH 2 A
Options :

E1547532629. 1
B1547532630. 2
61547532631, 3
E154753263%. 4

Question Number : 84 Question Id : 6154758370 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who operated the first scheduled commercial airline on 10t June, 1914 to the USA in the
Saint Petersburg-routes?

(1) Sir Henry Lunn (2) Tony Jannus
(3) John C Dengler (4) Vladimir
Options :

BE1547532633. 1



E1547532634. 2
61547532635, 3
B1547532636. 4

Question Number : 84 Question Id : 6154758370 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
- 10 54, 1914 &1 d2 dizdat art # Juau + fon 9ew feges +afiEa e 1 y= e e

(1) @A (2) =ZH 99
(3) 9 . 21 (4) =ATGH
Options :

61547532633, 1
61547532634, 2
61547532635 3
E1547532636. 4

Question Number : 85 Question Id : 6154758371 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following “concerns” of the United Nations in 1989 made it to convene the

conference on “Environment and Development” in Rio de Janeiro in June 19927
(1) Human Development Index

(2) Widespread Poverty and Unemployment

(3) Serious degradation of the global hife support systems

(4) Sustainable Tourism Development

Options :
15475326371

E1547532638. 2
E1547532639. 3
61547532640, 4

Question Number : 85 Question Id : 6154758371 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frefafaa § 7 g3 vy w9 & f6a wfase %1 10g0 & Tt f3 Safeh 97 1002 § o i famm
T B 1 AT F o [0 $9E T 2 7

(1)  HHd faE g==5 (2) FATTH TR 3T S
(3)  Afvas <fEg oo fen oo s (4) uEAE T fawm
Options :

61547532637 1

61547532638, 2

E1547532639. 3
E1547532640. 4



Question Number : 86 Question Id : 6154758372 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

American Express was established 1n the vear 1950 in Buffalo, New York. It was founded by
two of the following founders :

(1) Marcellus Fleming and Robert Fleming
(2) Albert Dawson and George Fleming
(3) Joseph Paxton and Willham.G.Express

(4) Henry Wells and Wilham.G.Fargo
Options :

615475326411

E1547532642. 2

61547532643 2

61547532644 4

Question Number : 86 Question Id : 6154758372 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TEE], 2T § 1950 H HRT vEad =i e i 2 off| 3@ eafaiEs § O 5 gereel g S

(1)  HEAE T 3 Tee T m (2)  3eTae 2130 3T JTe T

(3) AE TFHET 37 At = v (4) =9 o=m o Tafemm <. =

Options :

61547532641,
£1547532642,
E1547532645
1547552644,

o IR

Question Number : 87 Question Id : 6154758373 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Zagreb’s Museum of Broken Relationship is situated in one of the following countries :

(1) Moroceo (2) Miami
(3) Lithuma (4) Croatia
Options :

51547532645, 1
61547532646, 2
E1547532647. 3
E15475326458. 4

Question Number : 87 Question Id : 6154758373 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



ST DIt AT 6 e Fetaigs § @ e gw g e 2t

(1)  Hr=E (2) o
(3)  Tagsmtn (4) FHICEMED
Options :

E1547532645. 1
61547532646, 2
61547532647, 3
615475326458, 4

Question Number : 88 Question Id : 6154758374 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Communal Area Management Programmes for Indigenous Resources (CAMPFIRE) aim to
conserve fragile ecosystems to increase the income of local people in dry areas of :

(1) Uganda (2) Tanzania
(3) Congo (4) Zimbabwe
Options :

E1547532649. 1
61547532650, 2
61547532651, 3
61547532652 4

Question Number : 88 Question Id : 6154758374 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

SIS AT % U AWt &9 e FwEwA (60 T 0 UF 9E AW 2) w o S5evd Rk I e A

(1) TS (2) TSI
(3) = (4) Tamme
Options :

E1547532649. 1
E1547532650. 2
E1547532651. 3
B1547532652. 4

Question Number : 89 Question Id : 6154758375 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following Global Distribution Systems (GDS) was founded by a group of
airlines such as Air France. Iberma, Lufthansa. SAS and Continental Airlines in 19877

(1) Amadeus (2) Galileo
(3) Wordspan (4) BSabre
Options :

61547532653, 1
61547532654, 2
61547532655, 3
E1547532656. 4

Question Number : 89 Question Id : 6154758375 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HfcIfgd § § = Toiee fiegyd s (S 2 0H) U3 B, 36, GdiEl, T U UH AT R

TATATE 98 UIEAEA T2 AT 1957 § TEATod a1 7 4 ?

(1)  smeay (2) T
(3)  He=d (4) Tl
Options :

61547532653, 1
61547532654, 2
E1547532655. 3
61547532656, 4

Question Number : 90 Question Id : 6154758376 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following 1s NOT a part of behaviour/characteristics of tourists belonging to
old-Fordist group?

(1) Mass (2) Packaged
(3) Sun, Sea, Sand, Jex (53) (4) Travelling, Trekking, Trucking (TS)
Options :

61547532657, 1
61547532658, 2
61547532659, 3
E1547532660. 4

Question Number : 90 Question Id : 6154758376 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

AN § 8 i AleS-Fi2 T8 H Oai9d T2F] & Fagha4 [aed &1 97 T8 27

(1) oy (2) U&=z

(3) T, Sea. Sand. 99 (TH T4 (4) Zate, 2fF, = (F )
Options :

E1547532657. 1



E1547532658. 2
61547532659, 3
51547532660, 4

Question Number : 91 Question Id : 6154758377 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Despite having vast touriam potential. India receives only a small share of world tourism.

For this, a number of factors are responsible and are holding back the expansion of tourism
in India.

Which of the following are correct statements?

(a) Inadequate infrastructure (especially water and power supplies)

(b) Negative publicity in the Western Media — for example. news of outbreak of dizease.
and inter-communal strife

(c) Shortage of medium priced accommodation

(d) Negative factors hike air pollution, noise, poor hygiene and harrasment by beggars
and street vendors

Select the correct option from below :

(1)  @. k). (0. (D

(2)  (a). (b) and (c) only
(3) (b) and (d) only

(4) (a) and (c) only

Options :

61547532661, 1
61547535662 2
E1547532E63 3
1547532664, 4

Question Number : 91 Question Id : 6154758377 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
AN Pl BEAEl F aEde, A # favd vl w1 e e d o da 21 e o ars ik
A € 31 77 9Ra 1 T F fomw # U w R

FeATa 8 O FH-3 5949 T8 27

(a) AT FEEEA (T 9= 3 e 3

(b)  Hfg=t Hifsan § THERICHS R3S F AU - oW S Hetad T 3 A -THeE 3
(c)  TIH FHiUd 9Te] EW = FHI

(d) TEOES FEF 4 94 T, A, T Eeadl AR a9 9o Fwami e 3eded

1=l O w2l e gHe

(1) (a). (b). (e). qdl
(2) ddl (a). (b) X (c)

(3) Fa (b) 37 (d)
{4} e (a) £ its (c)



Options :

61547532661, 1
1547532662 2
E1547532E63 3
1547532664, 4

Question Number : 92 Question Id : 6154758378 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following pairs are correctly matched?

Author Book
(a) Rawvindra Nath Tagore -— Why I am an atheist?
(b) Jawahar lal Nehru —_ The Discovery of India
(¢} Mahatma Gandhi — The Jail Dairy
(d) Subhash Chandra Bose — An Indian Pilgrim

Select the correct option from the below :

(1)  (a). (b) and () only
(2)  (a). (c) and (d) only
(3)  (b) and (d) only

(49 (b). (c) and (d) only

Options :
15475326685 1

E154753266E. 2
E1547532667Y. 3
B1547532668. 4

Question Number : 92 Question Id : 6154758378 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(a) TE= A9 AR s a1 3T Y U ufuis ?
(b) TATE AT T8% — 7 Temradl w1 s
(c)  TETCHI Tl o 2 =T S

(d) TN =5 aH = w9 zferm frafim

Jr= 4 WE fawey M

(1)  Fad (a). (b) 31 (c)
(2) A (a). (c) AT (d)
(3)  =ad (b) 37 (d)

(4)  FaA (b). (¢) AT (d)

Options :

61547532665, 1
61547532666, 2
1547532667, 5
61547532668, 4

Question Number : 93 Question Id : 6154758379 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following pairs are correctly matched?

Act Year
(a) Environment (Protection) Act — 1986
(b) Forest (Conservation) Act — 1987
(¢) Tourizm Act — 2009
(d) Wildlife (Protection) Act —_ 1972

Select the correct option from the below :

(1)  (a)and (b) only

(2)  (a). (b) and (c) only
(3) (a). (¢) and (d) only
(4)  (b). (c) and (d) only

Options :

61547532669, 1
1547532670 2
E1547532671. 3
1547532672 4

Question Number : 93 Question Id : 6154758379 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FeifRd § & -3 T gifed &7

EIBIERE Gl
(@) TEE (FTH0T) ATGHEE = 1936
(b) T (TTHW) AT — 1937
(¢) THZA ATGHIH — 20009
(d) FrEE (Hrger) wtafEm - 1072

(1)  =ad (a) T (b)

(2) Fad (a). (b) 31 ()
(3) F94 (a), (c) 3T (d)
(4)  =ad (b). (c) F (d)

Options :

61547532669, 1
61547532670 2
E1547532671. 3
1547532672 4

Question Number : 94 Question Id : 6154758380 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Space Tourism, which 1s one of the costliest forms of tourism, has been defined by the space

Tourism Society. Following are the key features of the Space Tourism definition:

(a) Travel to the earth’s orbit and sub-orbit

(b) Travel to planets bevond the earth’s orbit

(c) Earth-based simulated experiences at NASA centre and entertainment-based
experiences
(d) Cyber space tourism experiences

Select the correct features of the space tourism from the options given below:

(1)  (a) and (b) only
(2)  (a). (b) and (c) only
(3) (a). (c) and (d) only

4)  (a). (b). (c). (d)
Options :

61547532673, 1
61547532674 2
61547532675 2
E1547532E76. 4

Question Number : 94 Question Id : 6154758380 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(2)  TZEi Y TR SR Su-gid F A

(b) gl =i TRl W 91 T

(¢) AT F5 W 9l TG Wgeeg AR HHeHA AT 3199

(d)  TEE TE W 99
31 faw o fampei 6 & At Tz Fi od feman 9h

(1) = (a) 317 (b)
(2) +a (a). (b) 3 (e)
(3) Fa (a). (¢} 37 (d)

{4) (a). (b). (c). (d)
Options :
61547532673 1
61547532674 2
61547532675 5
E1547532676. 4

Question Number : 95 Question Id : 6154758381 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following cause Non-samplhing errors?

(a) Vague and imperfect questionnaires
(b) Bias in the estimation method
{c) Variability of the population

(d) Personal bias of the investigator

Choose the correct option:

(1) (a)and (¢)
(2)  (b) and (c)
(3)  (b) and (d)
(4)  (a)and (d)

Options :

61547532677, 1
61547532678, 2
61547532679 2
61547532650, 4

Question Number : 95 Question Id : 6154758381 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



ARG 0 4 T-Yidas 2T FFEE 0 2l 2 ?
(a)  ATIE AR YW GTAE T

(b)  FIEHEF &g ° qEmE

()  HHE Fi A=A

(d)  IgEAl = HE EE

(1) (a) 3T (c)
(2) (h) 3 (e)
(3) () 3T (d)

(4)  (a) #F(d)
Options :
E1547532677. 1
E154Y532678. 2
E1547532679. 3
£1547532680. 4

Question Number : 96 Question Id : 6154758382 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Consider the communication networks operating within orgamzation. Which networks are

decentralized with no member able to communicate with all other members of the group?

(a) Circle
(b) Chain
(e) Star
(d) ¥

Choose the correct option:

(1)  (a)and (b)
(2)  (b)and (c)
(3)  (¢)and (d)

(4)  (a)and (d)
Options :
£1547532681. 1
E1547532682. 2
E1547532683. 3
£1547Y532684. 4

Question Number : 96 Question Id : 6154758382 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T % ot TaW J2as YaeEl W faan Fitau, 9o Seas Tt 2, fod =6 f o0 o & o=

Tl T2] = W19 Sia=id = § J04d T8

(a) ad
(b) =G
(c) L2 L
(d) ¥

(1) (a) FT (b)
(2) (h) 31 (¢)
(3) (c) 31 (d)

(4)  (a) 3T Q)



Options :

61547532681, 1
61547532682 2
E1547532653 2
61547532684, 4

Question Number : 97 Question Id : 6154758383 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following are the parametric tests?
(a) T-test
(b) Z-test
i
(c) ¥ -Test

(d) Runs test

Select the correct option

(1)  (a)and (b)
(2)  (b) and (c)
(3)  (c)and (d)
(4 (a)and (d)

Options :

£1547532685. 1
E1547532686. 2
E1547532E87. 3
E1547532E88. 4

Question Number : 97 Question Id : 6154758383 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



EATRd | o e F WA wE-E F 7

(a) T-9iim
(b) 7 T
() I: - mﬁﬁﬂm

(d) T Fieqm

(1) (a) 317 (b)
2)  (b) # ()
(3) (o) (D)

(4) (a) 37 (d)

Options :

61547532685, 1
61547532686, 2
61547532687, 2
E1547532658. 4

Question Number : 98 Question Id : 6154758384 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Considering Henry Mintzberg's classification of managerial roles, which amongst the
following are the decision-making roles of a manager?

(a) Entrepreneur

(b) Negotiator

(c) Leader

(d) Liaison

Choose the correct option :

(1)  (a)and (b)
(2)  (b)and (c)
(3)  (c)and (d)
(4)  (a)and (d)

Options :

1547532689, 1
615475326590, 2
61547532691, 5
61547532692, 4

Question Number : 98 Question Id : 6154758384 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TFET S F T F TEg § B Weaa F 9gan TWaF A Aed § Fem-fgi e
FH-H 27

{a) FEH]
(b) THEETRR
c) o IDI
(d) o9+

(1) (a) FT (b)
(2) (b) 3T ()
(3) (¢) 3 (d)

(4) (a) 3T (d)

Options :

61547532689, 1
615475326590, 2
615475322691, 5
61547532692 4

Question Number : 99 Question Id : 6154758385 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following are NOT the characteristics of Weber's Bureaucratic Mode

(a) Divizion of Labour
(b) High formalisation
(c) Personal nature

(d) Employment decisions based on seniority

Choose the correct option from the following:

(1)  (a)and (b)
(2)  (b) and (c)
(3)  (c)and (d)
(4)  (a) and (d)

Options :
1547532692 1

E15475326594. 2
E15475326395. 3
B1547532636. 4

Question Number : 99 Question Id : 6154758385 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



g § H 991 o S Hisd & A9 T T8l & 7
(h) I=T FETET

(c) FTd T

(d) AMEAT & HTIW T I=0E Hoig

- -rr _E[ iT I{_Fﬁ f — _.r- o

(1)  (a) 3N (b)
(2)  (b) FN ()
3) (o) #: (D)
(4)  (a) F (D

Options :

B15475326493 1
615475326594 2
61547532695, 5
61547532696, 4

Question Number : 100 Question Id : 6154758386 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Classification of Legacy Vintage Hotels 1z done as :

(a) Legacy Vintage (Basic)
(b) Legacy Vintage (Classic)
(c) Legacy Vintage (Grand)

(d) Legacy Vintage (Superior)

Choose the correct option :

(1)  (a). (b) and (o)
(2)  (a). (b) and (d)

(3)  (0). (c) and (d)
(4) (b) and (d) only

Options :

61547532697, 1
61547532698, 2
61547532699 2
61547532700, 4

Question Number : 100 Question Id : 6154758386 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Al faea gea =1 i = A 2

(a) =R fa=a (3To)

by =T T (FTEE)
(c) AR fa=2s (U2)

(d) = faeeT (g

ﬂ?ﬁ rl"-] 3-;::{ .ﬂ_‘ '_‘l i.]\ :

(1) (a). (b) 3T (¢)
(2) (a). (b) 31 (d)
(3) (b). (c) 3T (d)

(4) e (h) 31 (d)

Options :

1547532697, 1
61547532698, 2
61547532699 2
61547532700 4

Question Number : 101 Question Id : 6154758387 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are the city names with their IATA codes :

(a) SLV is the IATA code of Shimla
(b) SSE is the IATA code of Sholapur
(c) SXR 1s the IATA code of Surat

(d) STV 15 the IATA code of Srinagar

Choose the correct option from the following:

(1) (a) and (c)
(2)  (b) and (o)
(3)  (b) and (d)
(4)  (a) and (b)

Options :

61547532701, 1
61547532702 2
£1547532703 3
61547532704, 4

Question Number : 101 Question Id : 6154758387 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



(a) THUAA, TEH AR A TEE 2
(b) UG UH 3, FATE AT IE U UAE B
(c)  THUIH WE, G H AE U T HRE 2

(d) UG A Al S F AR U AU R R

(1) (a) 3 (o)
(2) (b) 3T (c)
(3) (b) 37 (d)

(4) (a) 3T (b)

Options :
15475327011

E1547532702. 2
E1547532703. 3
B1547532704. 4

Question Number : 102 Question Id : 6154758388 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following services are included 1n self-service?

(a) Free flow
(b) Carvery
(c) Echelon

(d) American

Choose the correct option :

(1) (a) and (c)
(2)  (b) and (c)
(3)  (a) and (d)
(4)  (b) and (a)

Options :

61547532705, 1
61547532706 2
61547532707 3
6154752327038, 4

Question Number : 102 Question Id : 6154758388 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(a) T HAT

(b) LG
(c) =M
{d) A=A

(1) (a) 31 (c)
(2) (b) 3 (¢)
(3) (a) 3T (d)

(4) (b) 31 (a)

Options :

61547532705, 1
61547532706, 2
61547532707, 2
61547532708, 4

Question Number : 103 Question Id : 6154758389 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are included 1n the classification of “Themes’ Criteria of Hotels?

(a) Heritage Hotels
(b) Ecotels
(c) B & B Hotels

(d) Floatels

Choose the correct option :

(1) (@) and(d)
(2)  (b) and (c)
(3)  (b)and (d)
(4)  (a)and (b)

Options :
154753270591

E1547532710. 2
E1547532711. 3
B1547532712. 4

Question Number : 103 Question Id : 6154758389 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



it & el 1 g ariim § R gt R a2

(a) 24 EEA
(h) ECAET]
(c) o Wz #ff g

(d) A7

(1) (a) 3T (d)
(2) (h) 31 ()
(3) (b) 3T (d)

(4) (a) 3T (b)

Options :

61547532709, 1
61547532710 2
61547532711, 2
61547532712 4

Question Number : 104 Question Id : 6154758390 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Modern Menus first appeared during the early nineteenth century. in the

restaurants of the

(a) Italian

(b) Parisian

(c) Palais-Royal
(d) Italis-Roval

Choose the correct option to fill in the above blanks :

(1) (a)and (c)
(2)  (a)and (d)
(3)  (b)and (c)
(4)  (b)and (d)

Options :



E1547532713. 1
61547532714, 2
61547532715 3
E1547532716. 4

Question Number : 104 Question Id : 6154758390 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

S B TAd TR IHEdET geT ok EAET a6 % aee T, 1 2, TEdl |n
(a) selleid-d
(b) i

(e) AT -0

(d)  EEE-TEA

IIF G T § 98 959 9fim

(1)  (a) 3 (c)
(2) (a) 7 (D)
(3)  (b) I (c)
4)  (b) F(d)

Options :

61547532713, 1
61547532714 2
61547532715 2
61547532716, 4

Question Number : 105 Question Id : 6154758391 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Whach of the following are correct?

(a) Bhavish Aggarwal 1s CEO of Ola
(b) Rajiv K Vi3 18 CEO of Carzonsent
(c) Neeraj Gupta 1z MD of Savaar: Car Rentals

(d) Ankit Bhati is founder of Uber

Choose the correct option :

(1)  (a) and (b)
(2)  (b) and (¢)
(3)  (c) and (d)
(4)  (d)and (a)

Options :
15475327171

E15475327158. 2
B1547532719. 3
B1547532720. 4

Question Number : 105 Question Id : 6154758391 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



AT O HH-91 e 27
(b) TE . fad, FE-E FH S AT 2
(c) N4 THI, TAW] FW 2d % UH 2 8

(d) Ak 91, 39 F HETE ©

(1) (a) 317 (b)
(2) (b) 31T (c)
(3) (e) 3T (d)

(4) (d) 31 (a)

Options :

61547532717, 1
61547532718 2
£1547532719 3
61547532720 4

Question Number : 106 Question Id : 6154758392 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following about Amtrak are correct?

(a) Amtrak began service on May 1, 1971
(b) Mr. Richard H. Anderson 18 CEO of Amtrak
(c) Amtrak operates in United States of America only

(d) Amtrak headquarters is located in San Francisco

Choose the correct option :

(1)  (a) and (¢)
(2)  (a)and (d)

(3)  (a)and (b)
(4)  (b) and (c)

Options :

61547532721, 1
61547532722 2
61547532723 2
61547532724 4

Question Number : 106 Question Id : 6154758392 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



freifea # & um ¥ dag § BA-g o ¥
(a)  UOZF A 9T OET L 02, 1971 F 90 7 i

b) S T, ugE, TRE R W

(c)  WHIHF Fad AT T=F AHIH § U4 ol 2

(d)  THIF T GeATA O HIEER ° 2

(1) (a) 3T (c)
(2)  (a) IF ()
(3) (a) 3T (b)
(4)  (b) 3 ()

Options :

615475327211
1547532722 2
61547532722 5
61547532724 4

Question Number : 107 Question Id : 6154758393 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are incorrect?

(a) Social class 1s variable of demographic segmentation
(b) Benefit 1s variable of psychographic segmentation
(c) Personality 1s variable of psyvchographic segmentation

(d) Usage rate 1= variable of behavioural segmentation

Choose the correct option :

(I)  (a) and (¢)
(2)  (c)and (d)
(3)  (d) and (a)
(4)  (a)and (b)

Options :
E1547532725. 1

E1547532726. 2
B1547532727. 3
B1547532728. 4

Question Number : 107 Question Id : 6154758393 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(a) Gl 91 SHATHT (SHURF ) UL 1 = 2
(b)  TEHINTHF GUEF 1 9 A1 2
(c)  TTSHMUTEF EUSHAT ] =X =Ahd ©

(d)  =IEERTHF (9 12) QUL S T A 2

& e 900

(1) (a) 2T (c)
(2) (c) 31 (d)
(3) (d) 31 (a)

(4) (a) 3T (b)

Options :
E1547532725. 1

E1547532726. 2
B1547532727. 3
B1547532728. 4

Question Number : 108 Question Id : 6154758394 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

According to Butler's Sequence of Destination Life Cyele. which of the following are correct?

(a) Exploration stage 1s followed by involvement stage
(b} Involvement stage 1s followed by development stage
(c) Development stage 1s followed by stagnation stage
(d) Stagnation stage 12 followed by consolidation stage

Choose the correct option :

(1) {a) and (b)
{(2) (b) and (c)
(3) (c) and (d)

{4) (a) and (d)

Options :



B1547532729. 1
61547532730, 2
61547532731, 3
61547532732 4

Question Number : 108 Question Id : 6154758394 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

F2H F Tded SET 9% & A § S 5§ #7962

(b)  ITEET =0 % @12 IR = A R
(c) T = F @ feerdfiem = aaman 2

(d)  TeedTRO 90T % A O R S A 2

(1) (a) 3T (b)
(2) (b) 3T (¢)
(3) (¢) 3T (d)

(4) (a) 3T (d)

Options :

£1547532729. 1
61547532730 2
61547532721,
61547532732 4

Question Number : 109 Question Id : 6154758395 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



According to the Gap Model of Service Quality. which of the following are correct?

(a) Gap 1 12 about management perception

(b) Gap 2 18 about service quality specification
(c) Gap 3 18 about service delivery

(d) Gap 4 13 about market communication

Choose the correct option :

(1)  (a) and (b)
(2)  (b) and (¢)
(3)  (c)and (d)
(4)  (d)and (a)

Options :
E1547532735. 1

E1547532734. 2
E1547532735. 3
B1547532736. 4

Question Number : 109 Question Id : 6154758395 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TE1 AT F Y Higd F 99aE, FEiEd 4 3 wE-0 H0E 2 7
(a) 79 1, SHE FATIEON H AU 2

by T4 2, Har TR fafgea & Hefaa 2

(c) T 3, far feferaft 4 mafud 2

(d) 79 4, 9TF GEW § HEiUd 2

(1) (a) 3T (b)
(2) (b 3 (¢)
(3) (¢) 31 (d)

(4) (d) 3 (a)

Options :

61547532733, 1
61547532734 2
61547532735 2
615475327356, 4

Question Number : 110 Question Id : 6154758396 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Reserve Bank of India introduced Foreign Exchange Management Act (FEMA) and Foreign
Exchange Regulation Act (FERA) for management of inflow and outflow of foreign currency
in India. Which two of the following statements are correct with regard to RBI's foreign
exchange management?

(a) FEMA is a replacement of FERA

(b) FERA is a replacement of FEMA

(c) FEMA was enacted on 1% June, 2000

(d) FERA was enacted on 29™ December, 1999

Select the correct option :

(1) (a)and (¢
(2)  (b) and (d)
(3)  (d) and (a)
(4 (a)and (b)



Options :

61547532737, 1
61547532738 2
£1547532739 3
61547532740, 4

Question Number : 110 Question Id : 6154758396 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
4 fred o= 3 9nd H facsl gg1 #1 AEs HJ1 TEE F Edd od f9eei gon shy saE (FE) AR
el wz1 fafeme afafem (F) =1 iy R 1) IRdE fod 3% % fFesh g yeds % geg § At
4 4 HH-° FuT OE 27
()  RET %I T % TE 9L AT T 8
(b)  TEIT I TRET % THH 9T ST AT 2
(c)  TRHT I L 94, 2000 1 AH] A1 77 o1

(d) TR I 20 ToHT, 1939 =1 o TR0 T o

ﬁhﬁ 1_'2]_.-_-1\’1:

(1) (a) T ic)
2)  (b) 3 (d)
(3)  (d) 3 (a)
(4)  (a) T (b)

Options :

61547532737, 1
61547532738 2
61547532739 2
61547532740 4

Question Number : 111 Question Id : 6154758397 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are the requirements prescribed by the Ministry of Tourizm. Govt of
India for the approval of travel agencies?

(a) Have maximum paid up capital

(b) Income tax assessee

(c) Registered under the Local Shops and Establishment Act

(d) Approved by RBI to book foreign tourists

Select the correct option :

(1) (2. (b) and (c)
(2)  (b). (c) and (d)
(3)  (a). (c) and (d)
(4)  (c) and (d)

Options :

61547532741, 1
61547532742 2
61547532743 2
615475352744 4

Question Number : 111 Question Id : 6154758397 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(a)  ATIHAH Ted T &4
(b} EZEGI
(c) T FFA R T AT Ada T

(d)  Tacsf wiew giFn & foo ar & aE R High

(1) (a). (b) 3T (c)
(2) (b). (c) 37 (d)
(3) (a). (c) 317 (d)

(4) (c) T (d)
Options :
E1547532741. 1
E154r532742. 2
£1547532743. 3
1547532744 4

Question Number : 112 Question Id : 6154758398 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the mitiatives of Ministry of Tourism. Govt of India to promote ‘Adventure Tourism’ a set
of guidelines have been formulated by the Ministry in the Year and revised
suidelines as ‘Indian Adventure Toursm Guidelines’ (Version 2.0) have alzo been formulated
n the vear

From the following choose the correct option to fill in the blanks

(a) 2011
(b) 2012
(c) 2017
(d) 2018
Options :

(1) (b) and (d)
(2) (b) and (c)
(3) {(a) and (b)
(4) (a) and (d)



Options :

61547532745, 1
61547532746 2
61547532747 3
61547532748, 4

Question Number : 112 Question Id : 6154758398 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TH29 OAE 9 TSR AT a9 T HMfEy 9929 1 9261 24 % 0 f@snHes 39 e 79
3R Gt GRATE §-HTEEE THed fSeniHas (TR 2.0) a9 T a1 T 7T 41

iR 8 8 T et I

(a) 2011
(h) 2012
{ch 2017
(d) 2018
ﬁlﬂ?ﬂ :

(1) (b) 3 (d)
2)  (b) 3 (¢)
(3)  (a) W (b)
(4)  (a) I (d)

Options :

61547532745, 1
61547532746 2
61547532747, 2
61547532748 4

Question Number : 113 Question Id : 6154758399 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which two of the following types of visa match with their codes?

(a) T-1 — Tourist visa for group tourists

(b) T-3 — Visa for cruise tourists

(c) B-3 — Visa for Business Tourists from large business

(d) B-1 — Visa for Business Tourists from small and medium business

Select the correct option :

(1) (a) and (b)
(2) () and (c)
(3)  (c)and (d)
(4)  (d) and (a)

Options :

61547532749, 1
61547532750 2
61547532751, 2
£15475352752 4

Question Number : 113 Question Id : 6154758399 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



it Jie § T FH-T 31 3794 FI2 J gfad 27

(a) -1 — OHZ T2l g4 T2F dia

(b) -3 — A THHI g AT

(c) #1-3 — &g M 2q =A9H 24 gd ardl

(d) -1 — =" 31N 990 =EEE & =N 16 gg a0

(1) (a) 3T (b)
(2) (b) 3 (¢
(3) (c) 3T (d)

(4) (d) 3T (a)

Options :

61547532749, 1
61547532750 2
61547532751, 2
61547532752 4

Question Number : 114 Question Id : 6154758400 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which two of the following are not TCONIC TOURIST SITES" as per the Budget

Announcements of 2018-19, made by the Govt of India for Ministry of Tourism?
(a) Amer Fort (Rajasthan)

(b) The Sun Temple (Odisha)

(c) Kumarakom (Kerala)

(d) Sanchi (Madhya Pradesh)

Choose the correct option :

(1)  (a) and (c)
(2)  (b)and ()
(3)  (b)and (d)
(4)  (a)and (d)



Options :

615475327531
61547532754 2
61547532755 2
61547532756, 4

Question Number : 114 Question Id : 6154758400 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fd TR A1 9924 BT &4 9492 2018-19 Gl + FAR HeEa 1§ 4 wF 91 Aty odew e

(TSI 2= |gem) 98 27

(a) ST el (T

(by  TF Tl (=)

(c)  FHHATHME ()

(d) @A (=7 9e9)

(1) (a) 37 (¢)
(2) (b) 37 (¢)
(3) (h) T (d)

(4) (a) 3T (d)

Options :
E1547532753. 1

E1547532754. 2
E1547532755. 3
B1547532756. 4

Question Number : 115 Question Id : 6154758401 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are correct regarding partnership type of running travel
agency business?

(a) The maximum number of members in partnership business shall not be more than 20.
(b) Separate legal entities are required for partnership.

(c) The partnership has limited liability.

(d) No legal formalities are required for winding up the partnership business.

Select the correct option :

(1) (a) and (b)
(2)  (b) and (o)
(3)  (c) and (d)
4 (a)and (d)

Options :

£1547532757. 1
61547532758 2
61547532759, 5
61547532760, 4

Question Number : 115 Question Id : 6154758401 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) (a) 37 (b)
(2) (b) 3T (c)
(3) (c) ¥ (d)

(4)  (a) I (d)

Options :



BE1547532757. 1
61547532758, 2
61547532755, 3
E1547532760. 4

Question Number : 116 Question Id : 6154758402 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match List-I with List-1II :

List I List IT

(Dance) (State)

(a) Rechungma (1) Meghalaya
(b) Nongkrem (1) Sikkim

(c) Cheraw (m) Nagaland
(d) Rengma (iv) Mizoram

Select the correct option from those given below :

1) (@-@). (b)-0). (e)-(v). (d)-(i1)
(2)  (@-G1). (b)-(v). (c)-4). (d)-(11)
(3)  (a)-Q). (b)-G1i). (c)-(2). (d)-Gv)
@  (@-a). (b)-(i). (©)-0). (d)-(i)

Options :

615475327611
1547532762 2
61547532763, o
61547532764 4

Question Number : 116 Question Id : 6154758402 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T1-1 %1 Gel-11 H gHfeTd Hifae

THI-I g=I-11

(F7) (7r=3)

(a) T=mEI (1) HEE

(b) ATTHA i) fafEn

(c) THI= (i) AFTUE

(d) T (iv) <y
I 757 fowel § O ot fasew 9w

(1) (a)-(11). (b)-(1). (e)-(1v). (d)-(111)
(2) (a)-(11). (b)-(1v). (e)-(1). (d)-(11)
(3) (a)-(1). (b)-(111). (c)-(11). (d)-(1v)
(4) {a)-(1v). (b)-(11). (e)-(1). (d)-(111)

Options :

1547532761, 1
61547532762 2
61547532763 2
61547532764 4

Question Number : 117 Question Id : 6154758403 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match Last-T with Last-11 :

List I List IT
(Event) (Year)
(a) Salt Satyagraha (1 1942
(b) Quit India Movement () 1928
(c) Champaran Satyagraha (i) 1930
(d) Bardoh Satyvagraha (av) 1917

Select the correct option from those given below:

(1) (a)-Gai). (b)-G). (c)-(v). (d)-(11)
2)  (a)-@). (b)-G11), (c)-G). (d)-Gv)
3)  (a)-@), (b)-Gv). (¢)-(11), (d)-(1i)
@) (a)-Gv). (b)-(11). (c)-(1i). (d)-Q)

Options :

61547532765, 1
61547532766 2
E15475327EY. 3
61547532768, 4

Question Number : 117 Question Id : 6154758403 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



geit-1 =1 g=i-1I1 % 1 gafag Fifau

=T HHT-11
(BreT) (@)

(a) HH= HAUE (1) 1942
(b) WA BIEN A=A (i) 1928
(c) =TT TeATR (ii1) 1930
(d) WREET BN (iv) 1917

=1 759 T4l 4 4 92l 999 9HY,

(1) (a)-(111), (b)-(1). (c)-(1v). (d)-(11)
(2) (a)-(11). (b)-(111). (e}-(1). (d)-(1v)
(3) (a)-(1), (b)-(1v). (e)-(11). (d)-(111)
(4) (a)-(1v). (b)-(11). (c)-(111). (d)-(1)

Options :

651547532765, 1

61547532766, 2

E1547Y532767. 3
E1547522768. 4

Question Number : 118 Question Id : 6154758404 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match the items in List-1 with those 1n List-11 :

List I List I1

(Ratios) (What the ratios measure)

(A) Leverage Ratio (1) Extent of Debt financing

(b} Activity Ratio (n) Effectiveness in using resources

(c) Profitabihity Ratio (111) Returns generated on sales and
investment

(d) Growth Ratio (iv) Ability to maintain economic position

in the growth of the economy and
imndustry

Choose the correct option from those given below:

(1 (a)-(1). (b)-G1). (c)-(111). (d)-Gv)
(2) (a)-@@). (b)-(1). (e)-Gv). (d)-G1)
(3 (a)-(1). (b)-Giv). (c)-(G1), (d)-Gv)
4) (a)-(1). (b)-(Q). (¢)-(111). (d)-(iv)
Options :

15475327639 1

E1547532770. 2

E1547532771. 3
B1547532772. 4

Question Number : 118 Question Id : 6154758404 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



1.1 1 w51 =1 =111 |1 ghfed =i
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(37T

(a) IAeH HIIE
(b) FHEFAT I
(c)  ATIHEAT HAIIE

(d) Jig I

s
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(1) (a)-(1). (b)-(i1). (c)-(111). (d)-(1v)
(2) (a)-(1). (b)-(11). (c)-(1v). (d)-(111)
(3) (a)-(1). (b)-(111). (c)-(11), (d)-(1v)
4) (a)-(11). (b}-(1). (c)-(111). (d)-(1v)

Options :

61547532769, 1

61547532770, 2

61547532771, 3
E1547532772. 4

TH1-11

(T g HM)

(i) W T A

(ii) HEEAT = 990§ FHERi

(111) To% ¥ FEw O o =g

(iv) = 3 3= i gig 0 ol ft

Question Number : 119 Question Id : 6154758405 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0



Match the items in List-1I (Statistical Contributions) with those in List-II (Contributors) :

ListI List IT

(Statistical Contributions) (Contributors)

(a) Regression Analysis (1) Francis Galton
(b) Correlation Analvsis (11) Karl Pearson
(¢) Analysis of Variance (1) J. Bernoulh

(d) Theory of Probability (av) R.A. Fisher

Choose the correct option from those given below :

(1) (@)-@. (b)-G1). (c)-(v). (d)-(1i)
2)  (a)-(). (b)-(G1). (c)-(i11). (d)-Gv)
(3)  (a)-(1). (b)-@GiD. (c)-Gv). (d)-Q)
@  (a)-ai), (b)-v). (0)-Q). (d)-(13)

Options :

615475327731
61547532774 2
61547532775 2
1547532776, 4

Question Number : 119 Question Id : 6154758405 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TI-1 (W AreH) = G-I (ATEEFA ) = 319 AT =i

g1 THI-II

(T ameF) (ATTETAFAT)

(a) WiGTEA AFeE (1)  FIE" T

(by —TET Tagerym (1) e 9EE

(¢) A Tawemm (ii1) . TATA

(d) T F HZE (iv) 3R.U, TF|
J=1 f2u e ol 1 8 A8 faEed g9

(1) (a)-(1). (b)-(11), (c)-(1v). (d)-(111)
(2) (a)-(1), (b)-(i1), (c)-(111). (d)-(1v)
(3) (a)-(11). (b)-(111). (c)-(1v). (d)-(1)
(4) (a)-(11). (b)-(1w). ()-{1). (d)-(11)



Options :

615475327731
61547532774 2
61547532775 3
1547532776, 4

Question Number : 120 Question Id : 6154758406 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Match the following forms of vegetarianism with their descriptions :

(a) Vegetarians : Semi @
(b) Vegetarians : Lacto-ovo (i)
(¢) Vegetarians : Lacto el
(d) Vegans i)

Choose the correct option from those given below:

1) (a)-Q). (b)-Gi). (c)-(11), (d)-Gv)
2)  (a)-G1). (b)-(1). (¢)-(11d), (d)-(v)
(3)  (a)-Gi1). (b)-(11). (c)-(v), (d)-(2)
@  (a)-G. (b)-(m). (c)-G). (d)-Gv)

Options :
E1547E32777. 1

E1547532778. 2
B1547532779. 3
B1547532780. 4

Do not eat red meats. or all meats
other than poultry. Diet may include
fish and dairy produce except. meat.

Do not eat meat. fish or poultry, but
may drink milk, eat milk products and
egos

Do not eat meat., fish, poultry and
eggs, but may drink milk and consume
milk products

Do not eat any foods of animal origin.
Diet consists of vegetables, vegetable
oils, cereals. nuts, fruits and seeds

Question Number : 120 Question Id : 6154758406 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0



(a) YIHIEN] - 374

(b) THIEA] : Rl AE

(c) TMHERI : wiFel

(d) T

4= o8 el § | T fahed gA0

(1) (a)-(1). (b)-(11), (c)-(111). (d)-(1v)
(2) (a)-(11). (b)-(1). (e)-(111). (d)-(1v)
(3) (a)-(11). (b)-(11). (c)-(1v). (d)-(1)
(4) (a)-(11). (b)-(111). (c)-(1). (d)-(1v)

Options :

E1547532777. 1
E1547532778. 2
B1547532779. 3
£154Y532780. 4

(1)  FEe & Aol &2 ff 9 9" @ of o
T @rd| 3ER § usel i 2= 3aE

(i) HH, HIA A FHE T8 @, Teg gg |

(iii) T, T, FH2, IS 9 @, 39 1 T
£ 3R 9 39E W U 3

(iv) W9 Ic9id % Tt 3og =1 93 @ sEr o

Question Number : 121 Question Id : 6154758407 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match the following F & B Qutlets with the Hotels thev belong to :

(a) Royal Vega
(b} Baluchi
(c) 360°

(dy Varaq

Codes:

(1) (a)-(1v). (b)-(1). (e)-(ii1), (d)-(11)
(2) (a)-(1). (b)-(1m1). {(e)-(1v). (d)-(11)
(3 (a)-(111). (b)-(1v). (e)-(11). (d)-(1)

(4) (a)-(11). (b)-(11i). (¢)-(iv). (d)-(1)

(11 Taj Group of Hotels
(11) TOND — The Obero1 Group of Hotels
(1) ITC Weleomgroup of Hotels

(1v) The Lalit Group of Hotels



Options :

61547532781, 1
61547532782 2
£1547532753 2
61547532784, 4

Question Number : 121 Question Id : 6154758407 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frafafiaa v Uz &t smEese F1 39% Hefad geal % g gafad #+1

(a) TiFel 9m () AT g9 UUE gl

(b) ==l (i) & &0 T -7 A Y9 AE T
(¢) 360° (iii) A% 71 91 IoihE q9 ATE oA

(d) FF (iv) T AAd T ATF Feed

Fr fou o fawedt § O OE Ten =1

(1) (a)-(v), (b)-(1), (e)-(u11). (d)-(11)
(2) (a)-(1). (b)-(111). (e)-(1v). (d)-(11)
(3) (a)-(11). (b)-(1v). (e)-(11). (d)-(1)

(4) (a)-(11), (b)-111). (e)-(1v). (d)-(1)
Options :

51547532781, 1

E1547522782. 2

E1547532785. 3

BE15475327584 4

Question Number : 122 Question Id : 6154758408 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match the items in List-I (Name of the special train) with List-II (Point of Origin) :

(a)
(b)

(e)

(d)

List I
(Name of the special train)
Fairy Queen

Palace on wheels

Deccan Odyssey

The Golden Chariot

@
(i1)

(1i1)

(i)

Choose the correct option from these given below :

(1
(2)
(3)
@)

Options :

(a)-(av). (b)-(Gii). (c)-G1). (d)-()
(a)-(). (b)-G1). (c)-Gi1). (d)-Gv)
(a)-@). (b)-Gv). (c)-Gi1). (d)-(11)
(a)-(). (b)-(1), (c)-Gv). (d)-Gi1)

E1547532785. 1
E1547532786. 2
B1547532787. 3
61547532788, 4

Last I
(Point of Origin)
Delhi Cantonment Railway Station

SJafdarjung Railway Station. New
Delhi

Chhatrapati Shivaj Terminus,
Mumbai

Yesvantpur Junction Railway Station.
Bangaluru

Question Number : 122 Question Id : 6154758408 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gei-1 (9919 39 =1 9m) 4 41 75 931 =1 gEi-IL (A o) = a@1g gafed &1

=T THII
(forems 23 =1 M) (STl feg)
(a) T wEH Gy fedl e e =
(b) Uem AH = (i) HFET 9 WIE, T2
(c) SHFRA HifsH (i) @Aatd fSErs 2w, gus
(d) Tite=q AfEe (iv) ISEAE 999 T6d ©9HE, 9TTE
Fra fou o faedi 6§ v A =

(1) (a)-(1v). (b)-(111). (c)-(11). (d)-(1)
(2) (a)-(1). (b)-(11). (c)-(111), (d)-(1v)
(3) (a)-(1). (b)-(1v). (e)-(111). (d)-(11)
(4) (a)-(1). (b)-(11). (€)}-(v). (d)-(a11)

Options :

B1547532755. 1
61547532756, 2
61547532787, o
61547532788, 4

Question Number : 123 Question Id : 6154758409 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match the items 1n List-1 (The Selling Concept) with List-II (Description)

ListI Last IT
(The Selling Concept) (Dezcription)
(a) Starting Point (1)  Existing products
(b) Focus (1) Factory
(c) Means (1) Profits through sales volume
(d) Ends (iv) Selling and Promotion

Choose the correct option from those given below:-

(1) (a)-Ga). (b)-Q), (c)-(v). (d)-(1ii)
2)  (a)-(1). (b)-Gv). (0)-(). (d)-(1i)
(3)  (a)-@. (b)-Gi). (e)-(11). (d)-Gv)
@)  (a)-@). (b)-0). (e)-(i1). (d)-Gv)

Options :

£1547532789. 1
615475327490, 2
61547532791, 5
61547532792, 4

Question Number : 123 Question Id : 6154758409 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



ot 1 (Tema derean) =1 G011 (Taammn) & & 2 w81 = g gt =+

=11 111
(o3 g=em ) feraTo
(a) 9RY fag (i)  HI9E IE
(b) THIFH (1)
(c) @A (iii) ToiR1 1 BT = A H 19
(d) wTHH (iv) Tea 211 gHEE
Fra e o fasel § @ T fawen =

(1) (a)-(n). (b)-(1). (c)-(1v). (d)-(111)
(2) (a)-(n). (b)-(1v). (e)-(1). (d)-(111)
{3 (a)-(1). (b)-(11). (e)-(111). (d)-(1v)
(4) (a)-(11). (b)-(1}. (c)-(111), (d)-(1v)

Options :

C1E475E322759. 1

1547532790, 2

E15475327391. 3
E15475327392. 4

Question Number : 124 Question Id : 6154758410 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match the following categories and types of protected areas (LIST-I) with thewr specific

purposes of managing the site (LIST-II) :

List I (Categories and types of PAs)

{a) Strict Nature Reserve

(b) National Park
{c) Natural Monument

(d) Managed Rezource Protected Area

(1)
(11)
(111)

(1v)

Choose the correct option from those given below :

(1) (a)-(11). (b)-(111). (c)-(1). (d)-0v)
(2) {a)-(1v). (b)-(1m1). (e)-(11). (d)-(1)
(3) (a)-(11). (b)-(1v). (e)-(1). (d)-(111)
(4) (a)-(111). (b)-(2). (e)-(11). (d)-(1v)

Options :

1547532793, 1

£1547532794. 2

61547532735 3
61547532736, 4

List II (Specfic Purposes)

Conservation of specific natural

resources
Science
Ecosvstem Protection and recreation

The sustainable use of natural

ecosystems

Question Number : 124 Question Id : 6154758410 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Ffafaa ooiam &40 6 4l 3R 399 SRR (GE-1) #1399 F1 Y9igd w6 30 S 3590 6

Y FHieAd F (GE-I1)

THI-I (4911 27 376 9FR)
(a) [ia] OEd WHid= fsd
(b)  [ii] TEE TR
(¢) [11i] TET T

(d)  [vi] FeTe TETEd S &9
Ji= T30 T fasedl 4 4 931 e =94

(1) (a)-(11). (b)-(111). (e)-(1). (d)-(1v)
(2) (a)-(1v). (b)-(111). (c)-(11). (d)-(2)
(3) (a)-(11). (b}-(1v). (c)-(1). (d)-(111)
(4) (a)-(111). (b)-(1). {c)-(11). (d)-(iv)

(1)

{11)

G111 (fo919 3297)
IERIE!

(i) TfEEfds w3 e

(1v)



Options :

61547532793, 1
61547532794 2
615475327495 2
1547532796, 4

Question Number : 125 Question Id : 6154758411 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match the following tour operators with theilr distinguished services for societal and
environmental causes :

(a) Abercrombie and Kant (1) Travel operators for Tiger campaign
sponsors a Orilankan elephant: Born
free foundation Galapagos
conservation Trust., certain offsets
with climate care

(b) Explore (n) AITO; Tourism concern: International
Porter Protection Group (IPPQG)

(c) High Places (1m1) Tusk Trust; African Travel and
Tourism Association

(d) T & C Vovageurs (iv) Partner of friends of conservation:

supports planting and caring for
seedlings in Africa; offsets carbon
emissions; support of climate change
challenge

Choose the correct option from those given below :

1) (a)-Q). (b)-Gid). (c)-({). (d)-Gv)
(2) (a)-(). (b)-(v). (c)-(11). (d)-(2)
(3) (a)-(v). (b)-(). (c)-(11). (d)-G11)
@) (a)-Gu). (b)-(i). (c)-(). (d)-Gv)

Options :

61547532797, 1

61547532798, 2

61547532739 2

61547532800 4

Question Number : 125 Question Id : 6154758411 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



(a) USEET TS Fe (1) TR FEE H U e et e 6
Zefl F T OwA; gH Bl s
MAINA 999 22; JoEr N Ot

Fe ATHEZ
(b) TFATAT (1) T IE A M; A IEEH; TTHIHA 917
STFH g9 (e | o i)
(c) ¥ Trhd (1) =5 772, A% 29 U0 2N uEifaye
(d) o U= T Fmae (iv) Fr2H ATF Fdsd # Tl hE §

FA1;, FEA ST F FH FAI, oA

Fi= fou T famwed O O wE e =94

(1) (a)-{1). (b)-(11). (e)-{11). (d)-(1v)
(2) (a)-(11). (b)-(v). (e)-(11). (d)-(1)
(3) (a)-(1v). (b)-(1), (c)-(11). (d)-(111)
(4) (a)-(11). (b)-(11). (¢)-(1). (d)-(1v)
Options :
61547532797 1
61547532798, 2

B15475327595. 3
61547532800, 4

Question Number : 126 Question Id : 6154758412 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following UNESCO World Heritage sites of India in chronological sequence :

(a) Qutub Minar, Delhi
(b) Manas Wildhife Sanctuary, Assam
{c) Mahabodhi Temple Complex. Bodh Gaya

(d) Sundarban National Park, West Bengal

Select the correct option from those given below :

1) (@, (). . @)
(2)  (d). (e). (b). (a)
3 (). ). (a). ()
4 (2. (. (. (b)

Options :

£154r532801. 1
E154r532802. 2
E154r532802. 3
£1547532804. 4

Question Number : 126 Question Id : 6154758412 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



IRA il HEfciad g1 ges 2es T Tl Fomd + ATHE 5 H ST #

{ a } ir':_l ﬂ tﬁ:ﬁ—{, E -1;'5.-'._,]

(b) O 30419 31990, 799
(c)  HEEg §i= 9itaT, =g 7

(d)  g=Ted TEE U, 9159 9

fr=t oo e fasedi § & ot fawem =29

(1) (c). (b). (d). (a)
(2) (d). (e). (b). (a)
(3) (b). (d). (a). (c)

(4) (a). (c). (d). (b)
Options :
615475532801, 1
61547532802 2
61547532803 2
61547532804, 4

Question Number : 127 Question Id : 6154758413 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following rivers situated 1n different continents from North to South :

(a) Nile river
(b) Thames river
(c) Rajan mver

(d) Seine river

Select the correct option from those given below :

(1) (d). (a). (b). (e
2) (). (a). (0. (d)
(3)  (a). (c). (d). (b)
@ (b). ). (a). (@

Options :

61547532805, 1
61547532806, 2
61547532807, 2
61547532508, 4

Question Number : 127 Question Id : 6154758413 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



ot med ¥ 2 fefaigy e 1 39 1 giam $1 91 =3areT =1
(a) e o
(b) 2 FE
(c) e 31

(d)  HE I

= fou T fomedt 4 4 Od fawed =24

(1) {d). (a). (b). (c)
(2) (b). (a). (e). (d)
(3) (a). (c). (d). (b)

(4) (b). (d). (a). (¢)

Options :

1547532805, 1
61547532506, 2
61547532807, 5
61547532808, 4

Question Number : 128 Question Id : 6154758414 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following in a classic menu sequence 1= 1n order?

(1) Horsd'oeuvres-Potage-Oeufs-Farineux-Poisson—Entree-Sorbet-Releve-Roti-Legumes-

Salade-Buffet Froid

(2) Buffet Froid- Salade-Horsd oeuvres-Potage-Oeufs-Farineux-Poisson-Entree-Sorbet-
Releve-Roti-Legumes

(3) Horsd'oeuvres-Potage-Poisson-Oeufzs-Farineux-Entree-Sorbet-Releve-Roti-Legumes-

Salade-Buffet Froid

(4) Buffet Froid-Salade-Horsd'oeuvres-Potage-Poisson-Oeufs-Farineux-Entree-Sorbet-
Releve-Roti-Legumes

Options :

B1547532509. 1
6154752328100 2
61547532811,
61547532812 4

Question Number : 128 Question Id : 6154758414 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FefeiEad 8 8 FF F0F 0 d@a #9427

(1) 93" - 9@ - 39 - FiHFE - 93 H - A - 4@, f0d - 6 - 9 - O - g5

(2)  FF FES - TR - ATE - U - 3H - HHEE - 9EH - AF - 3 - ed - O -

(3)  HAREH - WA - WHH - 3% - R - A1 - g - od - T - o - e - %
H" qj

(4) FF FHEE - UARE - ARG - T@E - 990 - 3 - BHEEEE - A7 - @ - ad - 6 -
=T

o

Options :

15475532809, 1
61547532810 2
61547532811, =
61547532812 4

Question Number : 129 Question Id : 6154758415 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Select the correct chronological order of the vear of establishment of the following hotel
chains :

(1) The Park Group — ITC Hotels — The Leela — The Lalit
(2) ITC Hotels — The Park Group — The Leela — The Lalit
(3) The Park Group — ITC Hotels — The Lalit — The Leela
(4) ITC Hotels — The Park Group — The Lalit — The Leela
Options :

154753281351

E1547532514. 2

E1547532815. 3
BE1547532816. 4

Question Number : 129 Question Id : 6154758415 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

FETANgd BI2e = #hl T 98 &1 T8 Fad 91

(1) &9 g9 - % # 91 8l - § =l - 3 Afead
(2) R A Hi B H - I 9 - § el - § HAfed

(3) {4 - AR AW Eed - g Alad - g el

(4) O @ A EH - F TE T - T AlAd - 7 Al

Options :
61547532813, 1



E1547532814. 2
61547532815 3
61547532816, 4

Question Number : 130 Question Id : 6154758416 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Select the proper progression of marketing research process from the following :

(1) Defining problem and research objectives, develop research plan. collect the

information, analvse the information, interpretation and reporting

(2) Defining problem and research objectives, collect the information. develop research

plan, analyse the information, interpretation and reporting

(3) Develop research plan. defining problem and research objectives. collect the

information, analyse the information, interpretation and reporting

(4) Collect the information., defining problem and research objectives, develop research
plan, analyse the information, interpretation and reporting

Options :
15475328171

E15475328158. 2
E1547532819. 3
B1547532820. 4

Question Number : 130 Question Id : 6154758416 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TreAfeafiga § & Ve a9 IR #1098 9T 19

r.~h.i=. - [ E fT Eﬂ-{f ‘fj

(2)  HEH AR AFEGE I2TA1 F THEGNG F, GE9 TR F1, ATE9 391  E, g2 H

'F_,." T _E;-r "ﬂ::ETr \r:

(3)  HAIEGW ATST ST, HHEA AN SHEGH 39 R INENG AL, GEAT UHA FE, gEA

(4)  FEA THEA wA, A9 AR FE9E 3299 R TROING =, ATEGHE A0S 44, g2 #)

r{:.{‘= I. i i '|1_ :jﬂ]' E \.ﬂf

Options :

E154r532817. 1
E1547532818. 2
E154r532819. 3
£1547532820. 4

Question Number : 131 Question Id : 6154758417 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following includes the approaches to tourism marketing in chronological order ?

(1) Economic Planning Approach, Community Approach, Boosterism Approach. Physical

and Spatial Approach, Sustainable Approach

(2) Boosterism Approach, Economic Planning Approach, Physical and Spatial Approach.

Community Approach. Sustainable Approach

(3) Sustainable Approach. Boosterism Approach. Community Approach, Economie

Planning Approach. Physical and Spatial Approach

(4) Physical and Spatial Approach, Boosteriam Approach, Economic Planning Approach.

Community Approach. Sustainable Approach.

Options :
61547532821, 1
61547535822 2



E1547532823. 3
B1547532824. 4

Question Number : 131 Question Id : 6154758417 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

HATAREd § T 7500 Fe%0 & 3980 e [@I0E & 3Eam wd 27

B Ui DRAEEA
{2} q‘_. .-HIET i E a: Ui__ Iﬂﬁpﬁ H ﬂ‘EE: | EEE 51‘ 0, d ]:xlga.- & 3ﬁ7 L2 Pi:ia‘ 2 E._-q:. uf, E]__i 4 "-'q e EEEa: 0T,

o
Jgﬁr]
=

(4)  aATAlEE R TAHE g, T2 SR, S ST S, ATEAE R, Ganiy
SIEFm

Options :

615475325211
61547532822, 2
61547532823 2
61547532824, 4

Question Number : 132 Question Id : 6154758418 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The Ministry of Tourism, Govt of India has taken several initiatives for promotion of inbound
and domestic tourism in India and overseas in 2018. Arrange the initiatives in chronological

Sgequence .

(a) Overseas Road shows to promote, India as a destination for conference and meeting
(b) Buddhapath — The Living Heritage, the International Buddhist Conclave
(c) 7t Edition of International Tourism Mart

(d) Parvatan Parv

Select the correct option :

(1) (@ k). (. (D
2) (0. . (b). (@)
3) (@ (h). (d). (e
4 (B). @). (. d)

Options :

61547532825, 1
61547532526, 2
B1547532527. 3
61547532828 4

Question Number : 132 Question Id : 6154758418 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
g9 2018 H WA AR f929 § AES (HAa13s) AN Wl W F ggdl o4 & [0y Fied Wiierd, 9id 90

3 @1 A T 2| 39 T A e SR Sated #

(a)  TEHAT 31T 43wl % U Taen e (SfETTA) ® =9 § 9 $1 90 9 5 o fas § a2

(b)  FZ IA-TAfET 2iES, 2 e gige Faed
(c) FRIYE e °E w5 7A 5

(d) 479 U9

(1) (a). (b). (c). (d)
(2) {(e). (d). (b). (a)
(3) (a). (b). (d). (c)

() (b}). (a). (c). (d)



Options :

61547532825, 1
1547532826 2
B1547532527. 3
61547532828 4

Question Number : 133 Question Id : 6154758419 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

The UN General Assembly’s Millennium Summit heralded the agreement of a set of time-
bound and measurable targets known as the Millennium Development Goals (MDGS). There
are 08 MDGS of eradicating poverty. Arrange the following goals in the order in which they
figure in the UN list of goals :

(a) Achieve universal primary education
(b) Reduce child mortality
(c) Eradicate extreme poverty and hunger

(d) Promote gender equality and empower women

Select the correct option :

1) (@) (). (). d
2)  (B). d). (). (@
(3)  (d). (). (a). (e
4 (o). (@). (d). (b)

Options :

615475532829, 1
61547532820 2
61547532831, 2
61547532832 4

Question Number : 133 Question Id : 6154758419 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T T TR e Ot 3 umg gz 3R andE 9l % O, T et e 0w (o
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(1) (a). (c). (b). (d)
(2) (b). (d). {(e}). (a)
(3) {d). (b). (a). {c)

(4) (€). (a). (d). (b)
Options :
B1547532529. 1
61547532530, 2
61547532821,
61547532832 4

Question Number : 134 Question Id : 6154758420 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The sampling dezign process comprises of five interrelated steps. Arrange these steps in the
order in which these are taken :

(a) Defining target population

(b) Determining sampling frame

(c) Determining the sample size

(d) Selecting appropriate sampling technique

(e) Executing the sampling process

Select the correct option :

(1) @. ®). (0. . (e)
2)  (a). (b). (d). (). (e)
(3)  @. ®). (o). (e). (@)
@) (@ (). (d). (). (e)

Options :

61547532833, 1
61547532824 2
61547532835 2
61547532836 4

Question Number : 134 Question Id : 6154758420 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(d)  ITF Tidasl a1 954 HAl

(e)  Wides UkRaT =1 BFaraaa =4

(1) (a). (b). (e). (d). (e)
(2 {a). (h). (d). (). (e)
(3 {a). (b). (c). (e), (d)

(4) (a). (c). (d). (b). (e)
Options :
61547532833, 1
61547532824 2
61547532835 2
61547532836 4

Question Number : 135 Question Id : 6154758421 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Decision-Making process in an organization involves responding the following questions.

arrange the questions in a logical sequence :

(a) What can be done?

(b) What should be done?

(c) What is authorised to be done?
(d) What is intended to be alone?

(e) What 1z actually done?

Select the correct option :

(1) (@ (k). (0. (d). (e)
(2) (@) (b). (0). (e). (d)
(3) (@) (b). (d). (0. (e)
4) (@) (B). (e). (c). (d)

Options :

61547532837, 1
61547532838, 2
61547532839 2
61547532840 4

Question Number : 135 Question Id : 6154758421 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(e) AN § 47 TR T

(1) (a). (b). (c). (d). (e)
{(2) (a). (b). (c). (e). (d)
(3) {a). (b). (d). (). (&)

(4) (a). (b). (e). (c). (d)
Options :
61547532837, 1
61547532838 2
£1547532539 3
61547532840, 4

Question Number : 136 Question Id : 6154758422 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements. One labelled as Assertion (A) and other labelled as

Reason (R) :

Assertion (A) : Momjira Wildlife Sanctuary 1s recognized as an important wetland for
migratory birds. The water body provides considerable ecological diversity in supporting a

large population of wetland birds

Reasons (R) : The reservoir provides drinking water in Hyderabad and Secunderabad.

hence water is always stored even during the dry season

Select the correct option from those given below :

(1) Both (A) and (R) are true and (R) i1s correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not correct explanation of (A)
(3) (A) 18 true but (R) 1s false

(4) (A) 18 false but (R) 1s true
Options :

61547532841, 1

61547532842 2

61547532843 o

61547532844 4

Question Number : 136 Question Id : 6154758422 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(4) (A) T4 7, =il (R) Tl 2



Options :

615475325841, 1
61547532842 2
61547532543 2
61547532844, 4

Question Number : 137 Question Id : 6154758423 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other Reason (R) :

Assertion (A) : The process of hypothesis testing in research is analogous to the judicial

process by which an accused individual 1= judged 1n a court of Law

Reasons (R) : All the judgemental efforts are directed to the assumption of innocence

Choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1= correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) 1s true

Options :

61547532845, 1
61547532846 2
£15475352547. 3
61547522545, 4

Question Number : 137 Question Id : 6154758423 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(3) (A) TE 2, =i (R) T 2

(4)  (A) T4 B, = (R) OE 2

Options :

61547552845, 1
61547532846, 2
61547532847, 2
61547532848, 4

Question Number : 138 Question Id : 6154758424 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements — One 1s labelled as Assertion (A) and other is labelled as

Reason (R) :

Assertion (A) : The demand trend for more seasonal and locally sourced food and beverage

items 1s upbeat for the quality, taste, freshness and nutritional value.

Reasons (R) : Supplies of food items are seasonally and locally available in plenty and at

cheaper rates, when support for training of staff from local suppliers 1= not provided with.
In the light of the above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) i1s correct explanation of (A)

(2) Both (A) and (R) are true and (R) 1s not correct explanation of (A)
(3) (A) 1s true. but (R) 1= false

(4) (A) 1s false, but (R) 13 true



Options :

615475325849, 1
61547532850 2
61547532551 2
61547532852, 4

Question Number : 138 Question Id : 6154758424 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) (A) 3T (R) 2FT T 8 3T (R). (A) 1 T =3 2

(2) (A IR (R) aE1 T ¢ 3F (R). (A) i U =0T 981 ¢

(3) (A) TE 2. il (R) Teid 2
(4)  (A) T4 &, =54 (R) 981 2

Options :

61547532849, 1
61547532550, 2
61547532551 2
61547532852, 4

Question Number : 139 Question Id : 6154758425 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements — One 1s labelled as Assertion (A) and other 1s labelled as

Reason (R) :

Assertion (A) : Mass tourism is not without consequences and its negative impacts on

environment become visible and well known.

Reasons (R) : Social impacts of tourism on a community and their atfitudes towards

tourizsm should be understood.
In the light of the above statements choose the correct option :

(1) (A) 18 true. but (R) 1s false
(2) Both (A) and (R) are true and (R) 1s correct explanation of (A)
(3) (A) 1= false, but (R) 138 true

(4) Both (A) and (R) are true and (R) 1z not correct explanation of (A)
Options :
61547532553 1
61547532554 2
61547532855 2
61547532556 4

Question Number : 139 Question Id : 6154758425 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(4) (A) 37T (R) =1 W& 2 31T (R). (A) 1 T =aw= 941 2

Options :
61547532553 1



E1547532854. 2
51547532855, 3
51547532856, 4

Question Number : 140 Question Id : 6154758426 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements — One is labelled as Assertion (A) and other 1s labelled as

Reason (R) :

Assertion (A) : Underdeveloped countries promote tourism as a means of generating
foreign exchange for Increasing employment opportunities; attracting

development capital and enhancing economic independence

Reasons (R) : The structural characteristics of Third-World Economies do not detract

from achieving several of these goals

In the light of the above two statements. choose the correct option :

(1) Both (A) and (R) are true and (R) 1s correct explanation of (4)
(2) Both (A) and (R) are true and (R) is not correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false. but (R) 18 true
Options :
E1547532857. 1
E1547532858. 2
C1547532859 2
1547532560 4

Question Number : 140 Question Id : 6154758426 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(3) (A) TE 2, == (R) T4 2
(4) (A) T 2, =11 (R) T8 2

Options :

61547532857, 1
61547532858 2
61547532559 3
61547532560, 4

Sub-Section Number: 2
Sub-Section Id: 615475368
Question Shuffling Allowed : Yes

Question Id : 6154758427 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (141 to 145)
Cestion Lakel Comprehension



Read the passage below and answer the gquestions (91-95) those follow., based on vour
understanding of the passage :

In any kind of research reporting, the researcher must appropriately select one from among
a number of possible stories, accurately re-present the evidence (which may consist of, for
example, numbers, texts or 1mages if an empirical report or the work of others if library
based). and include sufficient contextual information to enable an in-depth understanding of
what 13 being described and the limitations and implications of the descriptions. Although
this 1s true across disciplines, it 1s within the social sciences that writers seem most troubled
about the perceived and real authenticity of their representations. For example, the
sociologist Chifford Geertz was concerned about those authors who claimed to have ‘actually
penetrated other worlds’ and about the way words have the power to distort. stating that it is
appropriate to possess a worry about the legitimacy of speaking for others, a worry about the
distorting effects of Western assumptions on the perception of others, and a worry about the
ambiguous involvements of language and authority in the depiction of others.

Sub questions

Question Number : 141 Question Id : 6154758428 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

For an in-depth understanding in any research reporting. a researcher must include :

(1) a story (2) mname of a writer
(3) name of an editor (4) name of an archives
Options :

E1547532861. 1
E1547532862. 2
61547532863, 3
61547532864, 4

Question Number : 142 Question Id : 6154758429 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In all social science subjects the writers face difficulty to understand :

(1) Accuracy of evidence represented by the writers

(2) Accuracy of evidence belonging to other society and culture
(3) The perceived and real authenticity of their representations
(4) Academic competence of a writer

Options :

51547532865, 1
61547532866, 2
E1547532867. 3
61547532868, 4

Question Number : 143 Question Id : 6154758430 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one labelled as Assertion (A) the other labelled as

Reason (R) :

Assertion (4) : Chfford Geertz was concerned about authors who claimed to have ‘actually
penetrated other worlds’
Beasons (R) : He was concerned about the way words have the power to distort. stating

that i1t 1s appropriate to possess the legitimacy of speaking for others.

Select the correct option from those given below :

(1) Both (A) and (R) are true, and (R) is correct explanation of (A)
(2) Both (A) and (R) are true, but (R) is not correct explanation of (A)
(3) (A) 18 true, but (R) 1s false
(4) (A) 1s false, but (R) 1s true
Options :
61547532869, 1
61547532870 2

61547532871, 3
G1547532872. 4

Question Number : 144 Question Id : 6154758431 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

To represent the accurate evidence, a researcher uses the following :
(a) Images

(b) Texts

(c) Numbers
(d) Name of story teller

Select the correct answer from the options given below:-

(1) (a). (c) and (d) only (2) (a). (b) and (c) only
(3) (b) and (d) only (4) (d) only
Options :

615475328731
61547532874, 2
E1547532875. 3
BE1547532876. 4

Question Number : 145 Question Id : 6154758432 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following statements is not correct?

(1) The words have the power to distort the facts.

(2) The ambiguous involvements of language and authority in the wrongly depiction of
others.

(3) Words have the power to take legitimacy of speaking for others.

(4) It 13 not necessary for a researcher to represent the evidence in support of their
statements.

Options :

E1547532877. 1
B1547532878. 2
E1547532879. 3
1547532880, 4

Question Id : 6154758427 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (141 to 145)
Juestion Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 6154758428 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
1 sy foqifdn § 29 903 % T o sianefi &1 31999 Sih- 91 =06y

(1) U= FgEl (2) U =g+ F A
(3)  U%F OIEF 1 AW (4) T g F1 T
Options :

E1547532861. 1
61547532862, 2
E1547532863. 3
E1547532864. 4



Question Number : 142 Question Id : 6154758429 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ot ot oM@ T9al | =g 991 G994 H HieA1% 1 G191 F449T 2
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Options :

61547532865, 1
61547532866, 2
61547532567, 3
61547532568, 4

Question Number : 143 Question Id : 6154758430 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(3)  (A)TE E AR (R) o B

(4)  (A) TEd 2 3 (R) T 2

Options :

61547552869, 1
61547532870 2
61547532871, 2
61547532872 4

Question Number : 144 Question Id : 6154758431 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(3) Fad (b) # (d) (4)  FaA(d)
Options :

61547532872 1
E1547532874. 2
E1547532875. 3
B1547532876. 4

Question Number : 145 Question Id : 6154758432 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
61547532877, 1
61547532878, 2

61547532879, 3
61547532880, 4

Sub-Section Number: 3
Sub-Section Id: 615475369
Question Shuffling Allowed : Yes

Question Id : 6154758433 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (146 to 150)
Cuestion Latbel COI‘H}JI"EHEHSiOH



Read the passage below and answer the guestions (96-100) those follow, based on vour
understanding of the passage :

The plant ‘amaranth’ 1s known in north India as ‘Ramdana’ (the Lord’s Grain). It 1=z also
known as Chulal and grows abundantly between the altitudes of 1000-3000 metres in the
Himalayan Region. It is also grown in Madhya Pradesh. Gujarat. Maharashtra and Tamil
Nadu. The most common Amaranth grain variety used in India is Amaranthus hybrdus. It
1= believed to have risen from a strain found in Latin America. While Scientists classify
amaranth as a grain. Most Indians treat i1t as a non-cereal. This allows ramdana’ to be
eaten as phalahar during the fasts. Various dishes are also made of it. ‘Ratanjot’ or cocks
Comb., which imparts the characteristic red hue in delicacy ‘Rogan Josh' iz the root of
‘amaranth’. It i1s used for medicines as well. Traditional wisdom recognises i1ts beneficial
properties. It alleviates piles, reduces eczema. provides relief in colic and acts as diuretic.

Indian farmers even feed their cows with amaranth.

Sub questions

Question Number : 146 Question Id : 6154758434 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following dishes are made from ‘amaranth™

(a) Chapata

(b)  Saag
(c) Halwa
(d) Pickle

Choose the correct option :

(1)  (a) and ()
(2)  (b) and (d)
(3)  (a)and(d)

@)  (d) and (c)

Options :
615475325811
E1547532882. 2



E1547532883. 3
61547532884, 4

Question Number : 147 Question Id : 6154758435 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two statements — One 1s labelled as Assertion (A) and the other i1s labelled

as Reason (R) :

Assertion (A) : The gift of the Lord’s Grain (Amaranth) 1s otherwise named as ‘Ramdana’

in North India for ereating healthy society

Reason (R) : The popularization of Rogandosh cannot increase the market value of

Amaranth

In the hight of above two statements choose the correct option :

(1) Both (A) and (R) are true. and (R) 1s correct explanation of (A)
(2) Both (A) and (R) are true, and (R) 1s not correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1= false, but (R) 1s true

Options :
E1547532885. 1

E1547532886. 2
B1547532887. 3
61547532888, 4

Question Number : 148 Question Id : 6154758436 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match the following dishes with their regional cuisine :

(a) Kolambhu (1) Maharashtra

(b) Battlee (11) Jammu and Kashmir
(c) Methi Maaz (11) Tamil Nadu

(d) Pharal (iv) Madhya Pradesh

Choose the correct option from those given below:-

(1) (a)-0). (b)-Gn), (¢)-(v), (d)-(11)
(2)  (@)-(w). (b)-(m1). (c)-(i). (d)-G)
(3)  (a)-Gii). (b)-(v). (c)-Gi). (d)-()
4  (a)-Gi). (b)-(1). (0)-Q). (d)-(v)

Options :

E1547532889. 1
E15475328390. 2
E154r532891. 3
E1547532892. 4

Question Number : 149 Question Id : 6154758437 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Most Indians treat ‘amaranth’ as a non cereal. However 1t 13 widely eaten in :
(a) Bread

(b) Sweet Dish

(c) Vegetable
(d) Curry (Kozhi)

Choose the correct option :

(1)  (a). (b) and (d) (2) (b). (e) and (d)
(3)  (d).(a)and (¢) (4) (a). (b) and (c)
Options :

E1547532893. 1
E1547532854. 2
E15475328395. 3
BE15475328596. 4

Question Number : 150 Question Id : 6154758438 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



‘Rogan Josh’ 1s a popular dish from cuisine of in which red hue 1s imparted
by ‘Ratanjot’ which is the root of ‘amaranth’.

Fill the above blank space from options given below:

(1) Jammu and Kashmir (2) Madhya Pradesh
(3) Gujarat (4) Maharashtra
Options :

61547532857, 1
61547532898, 2
61547522899, 3
E1547532900. 4

Question Id : 6154758433 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (146 to 150)
Cestion Lakel CDITLI}I"EhEﬂSiOﬂ

= f2u e T w6 9E o7 MRS 1S9 OEE F an W AE 70 T sl (96-100) I G

AT N T S ARA § THEET (39 R ) F B H S S 2| 29 ge % = 4 ol S S

2 31 77 fagreeft & ¥ 1000-3000 Hiex F1 =12 W U=F 90 § U A 2| 92 0eF W3S, A4, ey

AR ATEE 5 f 971 T 9 2| 9Ed ° maitas S T S 3 ) R e aeEied
2 T A 2 TR i ande O UF A 8 300 24 21 TAf S9EE S F UF A 6 F §

Ffd A © a9 SRS YA 3 W39 OHd 2| 30 g4 % GRE THGHT FCFAER % B9 |

G 1 A8 2| 200 T =99 ol 9 9 2] T A Fad e W e ME=ieg e 1 e
) i guwel YA Al B, U i A 2| SHE ST od % &9 ° o g 21 YR9iS "eg 6%
ATIEEF U 1 AT Y2 FAET 2| T2 A0Eg FFH FE 2, U i FH Al 2, 3 § TEd 95E
FAT 2 AN YeAaeds % B9 FAl 2| A WHUE A= TE ® AR F 90 F &Y § g 2|
Sub questions

Question Number : 146 Question Id : 6154758434 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



WS ¥ FERgd 3 H % 3 9] 893 96d 27

(a) =G
{b) am

{c) aoldl
{(d) AW

(1) (a) 3T (c)
(2) (b) T (d)
(3) (a) 37 (d)

(4) (d) T (c)

Options :

61547532881, 1
61547532882, 2
61547532883 2
61547532884 4

Question Number : 147 Question Id : 6154758435 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



= 31 oA fou o 2| U 1 afEmeE (A) 391 38 9% (R) % =0 4 A e w2

TR (A) =yl o AT (ST 392N 1 39% 9Wd H TEEd 99T & FEi a4 % e s

=9 | TagEr #1 A fa w2

TF (R) : T A9 =1 AR AT S0 =hi aTaN iEd § 92 T8 % %l 2

I B AT kAT O TE fommed =

(1) (A) 37 (R) [T T&t 2 31 (R), (A) Fi T8 =awe=a 2
(2) (A) 31 (R) 2H1 T 2 311 (R). (A) FI T == 77 2
(3) (A HEl 2 o (R) T 2

(4) (A 7Ted 2 R (R) Tl 2

Options :

61547532885, 1
61547532886 2
B1547532557. 3
6154753258588, 4

Question Number : 148 Question Id : 6154758436 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



efaiad == =1 39% 3T F44 % WY ghlad

(a) Y (i) HeWmg
(b) Tl (i) = 3N FTHR
(c) Wl HE (i) AEEE
(d)y A (iv) HET Wad
Frr v o ool § @ A fawed =94

(1) (a)-(1). (b)-(111). {e)-{1v). (d)-(11)
(2) (a)-(1v). (b)-(111). (c)-(11). (d)-(1)
(3) (a)-(111). (b)-(1v). (e)-(11). (d)-(1}

(4) (a)-(11). (b)-(112). (c)-(1). (d)-(av)
Options :
51547552889, 1
E1547522880. 2
E1547Y532891. =
615475328592 4

Question Number : 149 Question Id : 6154758437 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ATIHTE GRAT 3L ] TW-2AF OE4 2| A1 T8 =095 9 9 @0 9612

(a) EArd e

(by  H3 === H (HiE f=29)

(c) el ﬁ

(d) + (FE) 1

Rﬁ |a- E E_E‘%-!' =

(1) {a). (b). (d) {(2) (b (c) (d)

(3) (d). (a). (c) (4) (a). (b). (c)
Options :

E15475328593. 1
B1547532894. 2
615475328385, 3
61547532836, 4



Question Number : 150 Question Id : 6154758438 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

GLEREIED FoAH 1 A = 2, T T G AW # 92 2, gRI e duigel
EHE F‘E[ EIG] z

(1) ] 3R HIAT (2) HeA YoH
(3) T471d (4) HaEWIE
Options :

E15475328597. 1
E1547532898. 2
B1547532899. 3
615475323900, 4



